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(3) eoVr{dkmZ - A°J«moBH$mobm°Or - g|{Ð` eoVr d  H¥$frì¶dñWmnZ
1) A°J«moBH$mobm°Or
2) g|{Ð` eoVr
3) nrH$ nÕVr
4) H¥$fr CËnmXH$Vm d¥Õr
5) H¥$frì¶dñWmnZ
6) H¥$fr{df¶H$ g§emoYZ H|Ðo d g§ñWm
7) H¥$fr à{H«$¶m

1) A°J«moBH$mobm°Or

2) g|{Ð` eoVr
1) ^maV gaH$maÀ`m dm{UÁ` _§Ìmc`mZo ''g|{Ð` eoVrH$[aVm amï´>r` H$m ©̀H«$_''(EZ nr Amo E\$) ...... `m dfm©V gwê$ Ho$cm.

1) 1996 2) 1990 3) 2000 4) 2005
1) The Govt. of India, Ministry of Commerce launched "National Programme for Organic Farming

(NPOF)" in the year ......

1) 1996 2) 1990 3) 2000 4) 2005

2) Imbrbn¡H$s H$moUVr g§ñWm AmVm n`m©daUr` VmUmgmR>r {nHo$ A{YH$ cdMrH$ H$er ~Zdm`Mr `mMm emoY KoV AmhoV?
1) FAO 2) WMO 3) IPCC 4) CGIAR

2) Which of the following institutes are now investigating how to make crops more resilient to

environmental stress ?

1) FAO 2) WMO 3) IPCC 4) CGIAR

3) .......... hm nrH$ CËnmXZ, newYZ, eoVr, ‘Ëñ`nmbZ, dZrH$aU BË`mXr gd© n¡by§Mm g‘mdoe Agbobm EH$ A{Ve`
ì`mnH$ eãX Amho.
1) eoVr 2) {gpëìhnmíMa 3) H¥$fremó 4) {gpëìh-~mJm`V

3)  ..........is a very broad term encompassing all aspects of crop production, livestock, farming,

fisheries, forestry etc.

1) Agriculture 2) Silvipasture 3) Agronomy 4) Silvi-horticulture

4) ^maVmÀ`m FSSAI Zo ~mOatgmR>r EH$ ì`mnH$ JQ> ‘mZH$ {Z{X©ï> Ho$bo Amho ’y$S> goâQ>r A±S> ñQ>±S>S>© (AÞ CËnmXZo ‘mZHo$
Am{U ImÚ nXmW©) {ÛVr` XwéñVr {Z`‘Z 2023; `m g§X^m©V; Imbrbn¡H$s H$moUVo {dYmZ/Zo MwH$sMo Amho/AmhoV?
a) nydu ~mOar `m H$m`ÚmÀ`m H$joV ZìhVr.
b) Ádmar, ~mOar, ZmMUr Am{U amO{Jam ̀ mgma»`m H$mhr ~mOarM AÞ gwajm Am{U ‘mZH$ {d{Z`‘ 2011 ‘Ü ò {d{hV

Ho$boë`m AmhoV.
c) 2 S>r XwéñVrÛmao FSSAI Zo 15 àH$maÀ`m ~mOatgmR>r 8 JwUdÎmoMo ‘mnX§S> {Z{X©ï> Ho$boë`m ‘mZH$m§Mm EH$ JQ> V`ma

Ho$bm Amho.
d) 2 XwéñVr Ëd[aV à^mdmZo bmJy Ho$br OmB©b.
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n`m©¶r CÎmao :
1) a, c ’$º$ 2) b, c, d ’$º$ 3) d ’$º$ 4) a, d ’$º$

4) The FSSAI of India has specified a comprehensive group standard for millets Vide Food Safety

and Standard (Food Products Standards and food additives) Second Amendment Regulation 2023;

In this context; which of the following statement/s is/are incorrect ?

a) Earlier millets were not under purview of this act.

b) Only few millets like Jowar, Bajara, Ragi and Amaranthus are prescribed in the Food Safety and

Standard Regulation 2011.

c) By 2"d amendment FSSAI has framed a group of standard for 15 types of millets specifying 8

quality parameters.

d) 2" amendment will be enforced with immediate effect.

Answer options :

1) a, c only 2) b, c, d only 3) d only 4) a, d only

3) nrH$ nÕVr
1) EH$m _mJyZ EH$ R>am{dH$ H$mcmdYrV EH$mM O{_ZrV {nHo$ KoUo `mg ............. åhUVmV.

1) EH$ nrH$ nÕVr 2) Am§VanrH$ nÕVr 3) XmoZ nrH$ nÕVr 4) {nH$m§Mr \o$anmcQ>
1) Growing a set of crops in a regular succession over the same field within a specified period of

time is .......... .

1) Mono cropping 2) Inter cropping 3) Double cropping 4) Crop rotation

2) B{H«$g°Q> V§ÌkmZ àm_w»`mZo Imcrcn¡H$s H$moUË`m {nH$mgmR>r OmñV \$m`Xoera Amho?
1) D$g 2) Jhÿ 3) ^mV 4) ŷB©_yJ

2) Which one of the following crops has better advantages with ICRISAT technology cultivation ?

1) Sugarcane 2) Wheat 3) Rice 4) Groundnut

3) Imcrcn¡H$s H$moUË`m EH$m {nH$mMr cmJdS> CÝhmir h§Jm_mV B{H«$g°Q> V§ÌmZo Ho$cr OmVo Am{U Ë`m {nH$mg Ë`m nÕVrZo
Ho$coë`m amZ~m§YUrg é§X da§~m Am{U gar Ago g§~moYco OmVo ?
1) ~mOar 2) ŵB©_yJ 3) H$aS>B© 4) _yJ

3) Which one of the following crops is grown with "ICRISAT" technology in summer season? The

method of cultivation layout is known as B B F for that crop.

1) Bajra 2) Groundnut 3) Safflower 4) Greengram

4) _hmamï´>mV ...... `m {nH$mMo amÁ`m§VJ©V CËnmXZ ho amÁ`m§VJ©V dmnamnojm A{YH$ Amho.
1) ^mV 2) Jhÿ 3) Ádmar 4) _mohar

4) In Maharashtra the domestic production of ............. crop is higher than domestic consumption.

1) Rice 2) Wheat 3) Jowar 4) Mustard

5) Imcrcn¡H$s H$moUVm EH$ g_yh _hmamï´>mVrc Iarn {nH$mMm Amho ?
1) Ádmar, ~mOar, VmJ, Vm§Xyi, H$mnyg, ha^am 2) Vm§Xyi, ^aS> YmÝ`, H$mnyg, _H$m
3) Od, _mohar, ha^am, Jhÿ 4) ~mOar, e|JXmUm, ha^am, Od, _mohar
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5) Which one of the following is the correct group of Kharif crops in Maharashtra ?

1) Jowar, Bajra, Jute, Rice, Cotton, Gram. 2) Rice, Millet, Cotton, Maize.

3) Barley, Mustard, Gram, Wheat. 4) Bajra, Groundnut, Gram, Barley, Mustard.

4) H¥$fr CËnmXH$Vm d¥Õr
1) 'B§ÐYZwî`r H«$m§Vr' AW©ì`dñWoÀ`m H$moUË`m joÌmer g§~§{YV Amho?

1) cKy CÚmoJ 2) _m{hVr V§ÌkmZ 3) ImU joÌ      4) eoVr joÌmMm gdmªJrU {dH$mg
1) 'Rainbow Revolution' is related to which sector of Economy?

1) Small Scale Industry                                    2) Information Technology

3) Mining Sector                                    4) Overall development of Agricultural Sector

2) "ñdrQ> [aìhmoë ỳeZ' H$emer g§~§{YV Amho?
1) gmIaoMo CËnmXZ
2) ‘Y‘mer nmbZ Am{U ‘Y Am{U g§~§{YV CËnmXZm§Mo CËnmXZ
3) JmoS> Xw½YOÝ` nXmWmªMo CËnmXZ
4) à{H«$`m Ho$boë`m ’$i CËnmXZm§Mo CËnmXZ

2) What is ‘Sweet Revolution’ related to ?

1) Production of sugar

2) Beekeeping and production of honey and related products

3) Production of sweet dairy products

4) Production of processed fruit products

5) H¥$frì¶dñWmnZ
1) h[a`mUmVrb JwS>Jmd àH$ënmMr gwédmV Ho$br

1) Eg.Ho$. S>o 2) E’$. Eb. ~«m¶Z 3) ‘mo. H$. Jm§Yr 4) ~r. EZ. Jwám
1) Gurgaon Project in Haryana was started by

1) S. K. Dey 2) F. L. Brayne 3) M. K. Gandhi 4) B. N. Gupta

2) EImÚm {Oëh`mVrb eml²dV H¥$fr {dH$mgmgmR>r H¥$frH$m`m©V gh^mJr Agboë`m à‘wI ^mJYmaH$m§Mr .......... hr EH$
g§ñWm Amho.
1) à{ejU Am{U ôQ> (T & V) 2) Šbm §̀Q> AmYm[aV {dñVma (CBE)

3) H¥$fr V§ÌkmZ ì`dñWmnZ g§ñWm  (ATMA) 4) EH$mpË‘H$ àH$ën Ñï>rH$moZ  (IPA)

2) ...... is a society of key stakeholders involved in agricultural activities for sustainable agricultural

development in the district.

1) Training and Visit (T & V)

2) Client Based Extension (CBE)

3) Agricultural Technology Management Agency (ATMA)

4) Integrated Project Approach (IPA)
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3) _hmamï´>mV .......... Mo {~`mUo BVa H$moUË`mhr {nH$mnojm _moR>çm à_mUmV nwa{dbo OmVo.
1) ŵB©_wJm 2) gmò m~rZ 3) _mohar 4) Ea§S>r

3) In Maharashtra, seed of ............ is distributed on large scale than any other crop.

1) Groundnut 2) Soyabean 3) Mustard 4) Castor

6) H¥$fr{df¶H$ g§emoYZ H|Ðo d g§ñWm
1) amï´>r` ^mV g§emoYZ g§ñWoMo (gr.Ama.Ama.Am`.) _w»`mc` òWo Amho …

1) h¡Ðm~mX 2) H$Q>H$ 3) Zdr {X„r 4) ŵdZoída
1) The Central Rice Research Institute (CRRI) Head Quarter is located at ...........

1) Hyderabad 2) Cuttack 3) New Delhi 4) Bhuvaneshwar

2) _hmamï´>mV H$moaS>dmhÿ {nH$m§À`m eoVrMo g§emoYZ H|$Ð ........ òWo Amho.
1) _amR>dmS>m H¥$fr {dÚmnrR>, na^Ur 2) n§Om~amd Xoe_wI H¥$fr {dÚmnrR>, AH$mocm
3) _hmË_m \w$co H¥$fr {dÚmnrR>, gmocmnya 4) _hmË_m \w$co H¥$fr {dÚmnrR>, nwUo

2) Dryland Farming Research Station in Maharashtra is located at .........

1) M.A.U., Parbhani 2) P.D.K.V., Akola

3) M.P.K.V., Sholapur 4) M.P.K.V., Pune

7) H¥$fr à{H«$¶m
1) Imcrcn¡H$s H$moUË`m EH$m {nH$mÀ`m H$mT>UrgmR>r d¡̂ d {dù`mMr {e\$mag Ho$cocr Amho ?

1) H$nmer 2) ^mV 3) ŵB©_yJ 4) ~mOar
1) In which one of the following crops the "Vaibhav" sickle is recommended for harvesting?

1) Cotton 2) Paddy 3) Groundnut 4) Bajra

2) {~`m§Mo AmdaU ’$moS>Uo, IaMQ>Uo, ̀ m§{ÌH$[aË`m ~XbUo qH$dm ‘D$ H$aUo ̀ m à{H«$ òbm nmUr Am{U dm ỳ§‘Ü ò {PanÊ`m`mo½`
~Z{dÊ`mMr à{H«$`m åhUVmV.
1) A°{gS> CnMma 2) ñH$m[a{’$Ho$eZ 3) brqMJ 4) hm‘m}Zb CnMma

2)  The process of breaking, scratching, mechanically altering or softening the seed coats to make

them permeable to water and gases is known as

1) Acid treatment 2) Scarification 3) Leaching 4) Hormonal treatment
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CÎmao - (13) eoVr{dkmZ - A°J«moBH$mobm°Or - g|{Ð` eoVr d  H¥$frì¶dñWmnZ

1) A°J«moBH$mobm°Or

2) g|{Ð` eoVr
1-3 2-4 3-1 4-4

3) nrH$ nÕVr

1-4 2-4 3-2 4-3 5-2

4) H¥$fr CËnmXH$Vm d¥Õr
1-4 2-2

5) H¥$frì¶dñWmnZ
1-2 2-3 3-2

6) H¥$fr{df¶H$ g§emoYZ H|Ðo d g§ñWm
1-2 2-3

7) H¥$fr à{H«$¶m
1-2 2-2



For Private Circulation OnlyFor Private Circulation Only

‘hmamï´> amOn{ÌV ZmJar godm nyd©narjm gm‘J«r … gm‘mÝ` {dkmZ/ 63

For Private Circulation Only

(14) ‘¥Xm{dkmZ - ŷg§YmaU d ‘emJV V§ÌkmZ
1) ‘¥Xm KQ>H$ d d¡{eîQ>ço
2) ‘¥XoMo JwUY‘©
3) ‘¥XoMo  dJuH$aU - àH$ma d dmna
4) ‘mVrMr PrO
5) ‘¥Xg§YmaU
6) ‘emJV

1) ‘¥Xm KQ>H$ d d¡{eîQ>ço
1) Am§Vaamï´>r¶ ‘¥X emó gmogm¶Q>r à‘m{UV dJuH$aUmZwgma {MH$U‘mVr H$Um§Mm ì¶mg .............. Amho.

1) 0.002 {‘.{‘. nojm H$‘r 2) 0.002 Vo 0.05 {‘.{‘.
3) 0.001 Vo 0.01 {‘.{‘. 4) 0.007 Vo 0.09 {‘.{‘.

1) The diameter  of clay particles  as per the International  Soil Science  Society Standards

classification is        .......

1)  Less than 0.002 mm 2)  0.002 — 0.05 mzs

3)  0.001 — 0-01 mm 4) 0.007 — 0.09 mm

2) O{_ZrMm gm_y ...........À`m Xaå`mZ Agë`mg {nH$m§Mr dmT> Mm§Jcr hmoVo.
1) 6.5 Vo 8 2) 5.5 Vo 6 3) 8.5 Vo 9 4) 6 nojm H$_r

2) The soil pH in the range of ______ is good for crop growth.

1) 6.5 to 8 2) 5.5 to 6 3) 8.5 to 9 4) Less than 6

3) {nH$m§À`m Mm§Jë`m dmT>rgmR>r Am{U {dH$mgmgmR>r _mVr … hdm … nmUr `m§Mo à_mU ...... Agmdo.
1) 50 … 25 … 25 2) 40 … 20 … 40 3) 30 … 30 … 40 4) 30 … 40 … 30

3) For better growth and development of a crop the proportion of soil : air : water should be ......

1) 50 : 25 : 25 2) 40 : 20 : 40 3) 30 : 30 : 40 4) 30 : 40 : 30

4) OmoS>çm bmdm …
‘¥Xm {j{VO nXZm‘ g§{já dU©Z

a) Oe i) ‘emJV qH$dm BVa CbWmnmbW
b) Bz ii) {Oßg‘Mm g§M¶
c) Cy iii) {Oßg‘nojm OmñV {dÐmì¶ jmam§Mm g§M¶
d) Ap iv) {dKQ>rV g|Ðr¶ nXmW©
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (i) (iii) (iv) (ii)

2) (iv) (iii) (ii) (i)

3) (ii) (iv) (i) (iii)

4) (iii) (ii) (i) (iv)
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4) Match the following :

Soil horizon designation Brief description

(a)  Oe (i)  Village or other disturbances

(b)  Bz (ii) Accumulation of gypsum

(c)  Cy (iii) Accumulation of salts more soluble than gypsum

(d)  Ap( (iv) Decomposed organic matter

Answer Options :

(a) (b) (c) (d)

1) (i) (iii)    (iv)    (ii)

2) (iv)    (iii) (ii)    (i)

3) (ii) (iv)    (i)    (iii)

4) (iii) (ii)    (i)    (iv)

5) Imbrbn¡H$s H$moUVo nXmW© ‘mVrMo KQ>H$ AmhoV ?
a) XJS> JmoQ>o d dmiy b) ~marH$ ‘mVr d Hw$Obobo nXmW©
c) amgm¶{ZH$ nXmW© d) a§JÐì¶o
n¶m©¶r CÎmao …
1) ’$º$ (c) Am{U (d) 2) ’$º$ (a) Am{U (b)

3) (a), (b), (c) Am{U (d) 4) (a), (b), (c) Am{U (d) n¡H$s Zmhr
5) Which of the following substances are components of soil?

a) Stones and sand b) Fine soil and decomposed matter

c) Chemical substances d) Colour substances (Dyes)

Answer Options :

1) Only (c) and (d) 2) Only (a) and (b)

3) (a), (b), (c) and (d) 4) None of (a), (b), (c) and (d)

6) ‘mVr àmo’$mBb‘Yrb {j{VO ‘E’ qH$dm‘A
2
’ `m ZmdmZo AmoiIbo OmVo:

1) H$‘mb Eë ẁ{dEeZMo {j{VO 2) gdm©V OmñV I{ZO {j{VO
3) g§H«$‘U ñVa 4) OmñVrV OmñV O‘m hmoÊ`mMo {j{VO

6) The horizon ‘E’ or ‘A
2
’ in soil profile is known as :

1) Horizon of maximum eluviation 2) Top most mineral horizon

3) Transition layer 4) Horizon of maximum accumulation

7) AY©-pñWa bhmZ JwR>ù`m§er OmoS>bobo ‘mVrMo H$U ........... åhUyZ AmoiIbo OmVmV.
1) {demb 2) noS²g 3) ñV§̂ 4) ãbm°H$s

7) The soil particles associated in quasi-stable small clods are known as ...........

1) Massive 2) Peds 3) Columnar 4) Blocky

8) Imbrbn¡H$s H$moUVo nXmW© ‘mVrMo KQ>H$ AmhoV ?
a) XJS> JmoQ>o d dmiy b) ~marH$ ‘mVr d Hw$Obobo nXmW©
c) amgm¶{ZH$ nXmW© d) a§JÐì¶o
n¶m©¶r CÎmao …
1) ’$º$ (c) Am{U (d)      2) ’$º$ (a) Am{U (b)   3) (a), (b), (c) Am{U (d)4) (a), (b), (c) Am{U (d)n¡H$s Zmhr
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8) Which of the following substances are components of soil?

a) Stones and sand b) Fine soil and decomposed matter

c) Chemical substances d) Colour substances (Dyes)

Answer Options :

1) Only (c) and (d) 2) Only (a) and (b)

3) (a), (b), (c) and (d) 4) None of (a), (b), (c) and (d)

9) OmoS>çm bmdm.
g§km g§~§Y

a) noQ´>mobm°Or i) ‘¥XoMr CËnÎmr, gd}jU d dJuH$aU
b) BS>°’$mobm°Or ii) n¥ÏdrÀ¶m n¥ð>^mJmdarb Z¡g{J©H$ AmdaU (Wa) Á¶mV dZñnVrMr dmT> hmoVo
c) noS>m°bm°Or iii) IS>H$mMo {dkmZ
d) ‘¥Xm iv) Cƒ dZñnVrÀ¶m Ñ{ï>H$moZmVyZ ‘¥Xm
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (i) (iii) (iv) (ii)

2) (iii) (iv) (i) (ii)

3) (ii) (i) (iii) (iv)

4) (iv) (iii) (ii) (i)

9) Match the following :

Term Relation

(a)  Petrology (i)  Genesis, survey and classification of soil

(b)  Edaphology (ii)  Natural body on the Earth's surface in which the plant grows

(c)  Pedology (iii) Science of rocks

(d)  Soil (iv) Soils from standpoint of higher plants

Answer Options :

(a) (b) (c) (d)

1) (i)     (iii)    (iv) (ii)

2) (iii)   (iv)    (i) (ii)

3) (ii)    (i) (iii)   (iv)

4) (iv)    (iii) (ii) (i)

10) ‘mVrMr T>mo~i KZVm =

1) ‘mVrÀ¶m dñVw‘mZmMo dOZ 2)     ‘mVrMo à‘mU    .
      ‘mVrMo AmH$ma‘mZ        ‘mVrÀ¶m dñVw‘mZmMo dOZ

3)   {gëS>S>m`‘rQ>a   . 4) darbn¡H$s H$mhrhr Zmhr
     ‘mVrMo dñVw‘mZ

10) Bulk density of soil =

1)
 wt. of soil mass

2)
      soil volume     .

        soil volume        wt. of soil mass

3)
 Seildiameter

4)
 
None of the above

          soil mass
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2) ‘¥XoMo JwUY‘©
1) ^maVmVrc ~hþVm§e O{_ZrV ...... H$_r Amho.

1) ñ\w$aX (\$m°ñ\$ag) 2) nmcme (nmoQ>°e) 3) ZÌ 4) J§YH$
1) Majority of Indian soils are low in .............

1) Phosphorus 2) Potash 3) Nitrogen 4) Sulphur

2) ‘mVrMm nmoV hm ‘mVrMm ‘yb ŷV JwUY‘© Amho H$maU:
1) gmoB© V`ma H$aUm`m© doJdoJù`m AmH$mamÀ`m H$Um§À`m gmnoj à‘mUmZwgma Vo R>adbo OmVo
2) I{ZO ‘mVrVrb H$Um§Mm AmH$ma gmÜ`m gm§ñH¥${VH$ nÕVtZr ~Xby eH$V Zmhr.
3) H$Um§Mm AmH$ma hm`S´mo‘o{Q´H$ nÕVrZo R>adVm òVmo.
4) darb gd©

2) The texture of soil is a basic property of soil because :

1) itis decided by relative proportion of different size particles forming the soil.

2) the size of particles in mineral soils is not subject to change by simple cultural practices.

3) particle size can be decided by hydrometric method.

4) All of the above

3) eoVrÀ`m Ñ{ï>H$moZmVyZ ‘mVrMr H$moUVr aMZm gdm©V Bï> Amho
1) ßb°Q>r 2) H«§$~ 3) ñV§̂ r` 4) XmUoXma

3) From the agricultural point of view which structure of soil is most desirable

1) Platy 2) Crumb 3) Columnar 4) Granular

4) ‘mVrMr H°$Q>m¶Z EŠgM|O j‘Vm ...... Amho
1) ‘mVr emofy eH$Umè`m AXbm~Xb H$aÊ`m`mo½` H°$Q>m¶ÝgMr EHy$U ~oarO
2) ‘mVr emofy eH$Umè`m AXbm~Xb H$aÊ`m`mo½` H°$Q>m`ÝgMr ~oarO
3) ‘mVr emofyZ KoD$ eH$Umè`m Zm°Z-EŠgM|O H$aÊ`m`mo½` Am{U AXbm~Xb H$aÊ`m`mo½` H°$Q>m¶ZMr ~oarO
4) ‘mVr emofy eH$Umè`m AXbm~Xb H$aÊ`m`mo½` A`Zm§Mr EHy$U ~oarO

4) Cation exchange capacity of soil is

1) The sum total of the exchangeable cations that a soil can adsorb

2) The sum total of the exchangeable cations that a soil can absorb

3) The sum total of the non-exchangeable and exchangeable cations that a soil can absorb

4) The sum total of exchangeable ions that a soil can absorb

5) O{‘ZrÀ¶m YZ{dÚwV ^marV H$Um§À¶m AXbm~XbrMo à‘mU O{‘ZrV (‘mVrV) .......... ¶mMo à‘mU dmT>ë¶mg dmT>Vo.
a) dmiy b) nmo¶Q>m c) {MH$U H$U
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) ’$º$ (c) 4) ¶mn¡H$s Zmhr

5) The Cation Exchange Capacity (CEC) increases with increase in       content of the soil.

(a) sand (b) silt (c)  clay

Answer Options :

1)  Only (a) 2)  Only (b) 3)  Only (c) 4)  None of these
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6) ‘mVrMr AmåbVm Am{U ‘mVrÀ`m H$mobm°BS²ger hm`S´moOZ d A°ë ẁ{‘{Z`‘Mm Agbobm g§~§Y àm‘w»`mZo XmoZ àH$maÀ`m
F$U ^mam§Zr à^m{dV hmoVmo. ho ...... AmhoV:
A) H$m`‘ñdê$nr Am{U pH Adb§~yZ
~) Ad{eï> Am{U g{H«$`
H$) g|{Ð` H$mobmBS> Am{U AO¡{dH$ H$mobmBS>
n¶m©¶r CÎmao …
1) ’$º$ (A) 2) ’$º$ (~) 3) ’$º$ (H$) 4) (A) Am{U (H$)

6) The soil acidity and association of hydrogen and aluminium with soil colloids is mainly influenced

by two types of negative charges. These are :

a) Permanent and pH dependent

b) Residual and Active

c) Organic colloids and inorganic colloids

Answer Options :

1) Only (a) 2) Only (b) 3) Only (c) 4) (a) and (c)

3) ‘¥XoMo  dJuH$aU - àH$ma d dmna
1) O‘rZ j‘VoÀ`m dJuH$aUmZwgma ............. O‘rZ dÝ`Ord Am{U nmUbmoQ>mgmR>r `mo½` Amho.

1) dJ©-VI 2) dJ©-VII 3) dJ©-VIII 4) dJ©-VI Am{U VII

1) According to land capability classification ............. land is suitable for wildlife and watershed.

1) Class VI 2) Class VII 3) Class VIII 4) Class VI and VII

2) nd©Vr` _¥Xog .......... _¥Xm åhUyZ AmoiIcm OmVo.
1) H$mir H$mngmMr  2) An[anŠd 3) nrQ> 4) AëH$cr

2) Mountain soil is known as ............ .

1) Black cotton soil  2) Unmatured soil  3) Peat soil 4) Alkali soil

4) ‘mVrMr PrO
1) ‘mVr V`ma H$aÊ`mMr Aer à{H«$`m H$s Á`m‘Ü ò øy‘g Am{U goñŠdrAm°ŠgmBS> ‘¥XoÀ¶m daÀ¶m WamVyZ ~mhoa nS>VmV

Am{U ‘¥XoÀ¶m ImbÀ`m WamV O‘m hmoVmV, Va {g{bH$m ‘¥XoÀ¶m daÀ¶m WamVM gpåMV hmoVo.....
1) H°$ëgr{’$Ho$eZ 2) boQ>am`PoeZ 3) nm°S>Pmobm`PoeZ  4) bdUrH$aU

1) The soil forming process in which humus and sesquioxides become mobile, leach out from the

upper horizons and get deposited into lower horizons, while silica remains accumulated in upper

horizon.

1) Calcification 2) Laterization 3) Podzolization 4) Salinization

2) ‘mZdr {H«$`mH$bmnm§À`m à^mdmImbr ñWbr` n[ag§ñWoÀ`m X[aÐr à{H«$ òbm ...... åhUVmV.
1) gmoS>rH$aU 2) dmid§Q>rH$aU 3) AmåbrH$aU 4) O{‘ZrMm èhmg

2) The process of impoverishment of terrestrial ecosystems under impact of human activities is

called ......

1) Sodication 2) Desertification 3) Acidification 4) Land degradation
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3) ‘yi gm‘J«rnmgyZ ‘mVrMo H$U doJio H$aUo, `mo½` EO§Q>Ûmao Ë`m§Mr dmhVyH$ H$aUo Am{U JwéËdmH$f©U eº$s¨‘wio EImÚm
{R>H$mUr O‘m hmoUo `mbm Ago åhUVmV:
1) àdoJH$ Yyn 2) ‘mVrMr Yyn 3) nmÊ`mMr Yyn 4) dmè`mMr Yyn

3) The detachment of soil particles from parent material, their transportation by suitable agent and

deposition due to gravitational forces at some place is known as :

1) Accelerated erosion 2) Soil erosion 3) Water erosion 4) Wind erosion

4) ndZ eº$sÀ`m {H«$ ònojm O{‘ZrÀ`m n¥ð>^mJmda ‘mVrMo ‘moR>o H$U bmoQ>Uo qH$dm gaH$Uo `mbm ...... åhUVmV.
1) {Zb§~Z 2) erQ> BamoeZ 3) ñßb°e BamoeZ 4) n¥ð>^mJ a|JmiUo

4) Rolling or sliding of larger soil particles along the land surface moved by particles in saltation,

rather than action of wind force is called ......

1) Suspension 2) Sheet erosion 3) Splash erosion 4) Surface creep

5) ‘¥Xg§YmaU
1) Imcrcn¡H$s H$moUVr Xw~ma nrH$ nÕVr O{_ZrMr gwnrH$Vm {Q>H${dÊ`mgmR>r Am{U dmT>{dÊ`mgmR>r Mm§Jcr Amho?

1) gmò m~rZ-ha^am 2) ^mV-Jhÿ 3) _H$m-a~r Ádmar 4) ~mOar-a~r Ádmar
1) Which of the following double cropping system is good for maintaining and increasing soil

fertility?

1) Soyabean - Gram 2) Rice - Wheat

3) Maize - Rabi Sorghum 4) Pearl millet - Rabi Sorghum

2) MmonU O_rZ gwYmaÊ`mgmR>r Hw$R>ë`m ŷgwYmaH$mMm dmna H$aVmV ?
1) MwZIS>r 2) {Oßg_ 3) H$moigm 4) _rR>

2) Which soil amendment is used for reclaimation of alkaline soil ?

1) Lime 2) Gypsum 3) Coal 4) Salt

3) O{_ZrMm nmoV dmT>{dÊ`mgmR>r ........ {nH$m§Mr \o$anmcQ> Mm§Jcr AgVo.
1) Ádmar - Jhÿ 2) ^mV - Jhÿ 3) ~mOar - Jhÿ 4) ŵB©_yJ - Jhÿ

3) ......... rotation is good for increasing the soil nutrient status

1) Sorghum - Wheat 2) Rice - Wheat 3) Pearlmillet - Wheat 4) Groundnut- Wheat

4) Imbrbn¡H$s H$moUVr {dYmZo ~|Jbmoa H§$nmopñQ>§J nÕVrgmR>r bmJy AmhoV?
a) ~m`mo{S>J«oS>o~b KZH$Mam Am{U amÌrMr ‘mVr d¡H$pënH$ Wam§‘Ü ò, ‘mVrÀ`m I§XH$mV R>odbr OmVo.
b) ho àm‘w»`mZo A°Zmamo{~H$ ñdê$nmMo Amho.
c)  ^amd 3 ‘{hÝ`m§gmR>r {Z`{‘VnUo Mmby Ho$bm OmVmo.
d) ^amd n¥ÏdrÀ`m 15 go‘r WamZo PmH$bobm Amho.
n`m©̀ r CÎmao :
1) ’$º$  (a), (b)  Am{U (c) 2) ’$º$ (a), (b)  Am{U (d)

3) ’$º$ (a)  Am{U (c) 4) ’$º$ (b) Am{U (c)
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4) Which of the following statements are applicable to Bangalore method of composting ?

(a) Biodegradable solid waste and night soil is placed in alternate layers, in earthen trenches.

(b) It is primarily anaerobic in nature.

(c) The fill is turned regularly for 3 months.

(d) The fill is covered with 15 cm layer of earth.

Answer options:

1) Only (a), (b) and (c) 2) Only (a), (b) and (d)

3) Only (a) and (c) 4) Only (b) and (c)

5) Imbrbn¡H$s H$moUVo nrH$ Ima O{‘ZrgmR>r VwbZmË‘H$ÑîQ>çm OmXm ghZerb Amho ?
1) ^mV 2) ~mbu 3) ha^am 4) ‘wim

5) Which crop, among the following, is relatively more tolerant to saline soils ?

1)  Rice 2) Barley 3)  Chickpea 4)  Radish

6) Imbrb KQ>H$m§Mm {dMma H$am:
a) IS>H$mMo ñdê$n b)  ~moJÚmMr nÕV c) ~moJÚmMo àmo’$mBb d)  {bâQ>Mr Imobr
da Z‘yX Ho$boë`m KQ>H$m§n¡H$s H$moUVo KQ>H$ ãbmpñQ>§JgmR>r Amdí`H$$ ñ’$moQ>H$m§À`m à‘mUmda n[aUm‘ H$aVmV?
1) (b)  Am{U (c) 2) (a)  Am{U (b) 3) (c) Am{U  (d)  4) darb gd©

6) Consider the following factors :

(a) Nature of rock (b) Method of tunnelling

(c) Profile of tunnel (d) Depth of lift

Which of the factors stated above affect the quantity of explosives required for blasting ?

1) (b) and (c) 2) (a) and (b) 3) (c) and (d) 4) All of the above

7) gmo{S>H$ ‘¥Xm nwZgªM{`V H$aÊ`mMo ‘yb ŷV VÎd Amho:
1) jma gmoS>Ê`mgmR>r AYyZ‘YyZ Vbmd AgUo.        2) H°$Q>Zo Na* ~Xbbo Am{U brM Zo Na+. gmoS>bm.
3) ê$Q> PmoZÀ`m Imbr Agbobo A{V[aº$ jma H$mTy>Z Q>mH$Uo. 4) darb gd©

7) Basic principle of reclamation of Sodic soils is :

1) to have intermittent ponding for leaching of salts.

2) toreplace Na* by Catt and leach released Na+.

3) to remove excess salts below the root zone.

4) All of the above

6) ‘emJV
1) j¡{VO g‘Vb VgoM Cä`m g‘Vbmgh 300 IoMmMm H$moZ 1000 N IoMUmè¶m M.B. Zm§JamMm gmBS> ŚmâQ> ....... AgVmo.

1) 866N 2) 433N 3) 1000N 4) 100N

1) ............. is the side draft of M.B. plough having pull 1000 N with angle of pull as 30° with horizontal

plane as well as vertical plane.

1) 866N 2) 433N 3) 1000N 4) 100N

2) eoVm_Ü ò Zm§JaVmZm "V' AmH$mamMr gar H$moUË`m Zm§JamZo nS>Vo ?
1) ncQ>r Zm§Ja 2) {S>ñH$ Zm§Ja 3) Xoer Zm§Ja 4) [aOa
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2) While ploughing field, which plough is responsible to opne 'V' shaped furrow ?

1) M. B. Plough 2) Disc Plough 3) Deshi Plough 4) Ridger

3) ^mV eoVr_Ü ò nmUr gmMcoco AgVmZm {MIcUr H$aÊ`mgmR>r ...... ho AdOma Cn ẁº$ Amho.
1) ncQ>r Zm§Ja 2) nmË`mMm Zm§Ja ({S>ñH$ ßcmo) 3) nS>ca  4) Q´>åßca

3) Under water stagnated water conditions in rice fields, the suitable implement for puddling is a......

1) M. B. Plough 2) Disc Plough 3) Puddler 4) Trampler

4) {~Ja _emJV (Zero tillage) ho V§Ì àm_w»`mZo ......... `m nrH$nÕVrV dmnaco OmVo.
1) ^mV - Jhÿ 2) ^mV - ^mV 3) _H$m - Jhÿ 4) Ádmar - ŵB©_yJ

4) Zero tillage technique is mainly practiced in ........... cropping system.

1) Rice - Wheat 2) Rice - Rice 3) Maize - Wheat 4) Jowar - Groundnut

5) .............. hr ^m¡{VH$ pñWVr Amho Á`m‘Ü ò ‘mVr hr nmÊ`mMr Am{U hdoMr ‘wº$ hmbMmb, gwb^ ‘emJV, bmJdS>,
A~m{YV CJdU Am{U g‘wƒ`m§Mo EH$ Bï>V‘ g¡b, ZmOyH$ Am{U gpÀN>Ð EH$ÌrH$aU Amho. ‘wim§Mr dmT>.
1) nmb aMZm 2) ‘mVrMm nmoV 3) ‘mVrMr ‘emJV 4) ‘emJV

5) .............. is the physical condition in which soil is an optimally loose, friable and porous assemblage

of aggregates permitting free movement of water and air, easy cultivation, planting, unobstructed

germination and root growth.

1) Sail structure 2) Soil texture 3) Soil tilth 4) Tillage

6) Imbrbn¡H$s H$moUVm Zm§Ja ‘w»`V… H$S>H$ Vdm VmoS>Ê`mgmR>r Am{U Imob Zm§JaUrgmR>r (60-70 go‘r) daÀ`m Wam§Zm
H$‘r AS>Wim AmUÊ`mgmR>r dmnabm OmVmo?
1) O{‘ZrMm Zm§Ja 2) {N>Þr Zm§Ja 3) Zm§Ja 4) amoQ>ar Zm§Ja

6) Which of the following plough is mainly used for breaking hard pan and for deep ploughing (60-

70 cm) with less disturbance to the top layers ?

1) Subsoil plough 2) Chisel plough 3) Ridge plough 4) Rotary plough

7)  USLE ho EH$ ..... Amho.
a) g§H$ënZmË‘H$ ‘m°S>ob b) à{H«$`m-AmYm[aV ‘m°S>ob c) AZŵ dOÝ` ‘m°S>ob d) darbn¡H$s H$mhrhr Zmhr
n¶m©¶r CÎmao :
1) a and  b 2) a, b and d 3) d only 4) c only

7) The USLE  is  a .....
a) Conceptual Model b) Process-Based Model

c) Empirical Model d) None of the above

Answer options :

1) a and  b 2) a, b and d 3) d only 4) c only

8) Imbrbn¡H$s H$moUVr O‘rZ ^aÊ`mMr nÕV Zmhr?
1) joÌ nÕV 2) I§XH$ nÕV 3) ~§Jbmoa nÕV 4) a°ån nÕV

8) Which of the following is not the land filling method ?

1) Area method 2) Trench method

3) Bangalore method 4) Ramp method
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CÎmao - (14) ‘¥Xm{dkmZ - ŷg§YmaU d ‘emJV V§ÌkmZ

1) ‘¥Xm KQ>H$ d d¡{eîQ>ço
1-1 2-1 3-1 4-2 5-3 6-1 7-2 8-3 9-2 10-1

2) ‘¥XoMo JwUY‘©
1-3 2-2 3-2 4-1 5-3 6-1

3) ‘¥XoMo  dJuH$aU - àH$ma d dmna
1-3 2-2

4) ‘mVrMr PrO
1-3 2-2 3-2 4-4

5) ‘¥Xg§YmaU
1-1 2-2 3-4 4-2 5-2 6-4 7-2

6) ‘emJV
1-1 2-3 3-3 4-1 5-3 6-2 7-4 8-3
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(15) qgMZemó- Obg§YmaU d nmUr ì`dñWmnZ
1) qgMZ ObmMo òmoV
2) Ob‘mnZ - nmÊ¶mMo JwUY‘©
3) qgMZ nÕVro - àH$ma d d¡{eîQ>ço
4) ObàXÿfU
5) Obg§YmaU

1) qgMZ ObmMo òmoV, nmÊ¶mMo JwUY‘©
1) _hmamï´> Oc Am{U qgMZ Am`moJmZwgma (1999), amÁ`mMr H$_mc qgMZ j_Vm ........... cmI hoŠQ>a Agy eH$Vo.

1) 72 2) 54 3) 126 4) 154
1) According to Maharashtra Water and Irrigation Commission (1999), the irrigation potential of

the State could be ...... lakh ha.

1) 72 2) 54 3) 126 4) 154

2) H§$Qy>a ~§qS>J Ë`m ^mJm§gmR>r `mo½` Amho, Á`mV ...... n ª̀V dm{f©H$ nmD$g nS>Vmo.
1) 800 {‘‘r 2) 1000 {‘‘r 3) 600 {‘‘r 4) darbn¡H$s H$mhrhr Zmhr

2) Contour bunding is suitable for those areas, which receive the annual rainfall upto ......

1) 800 mm 2) 1000 mm 3) 600 mm 4) None of the above

3) eoVr‘Ü¶o ŷJ^m©Vrc ŷOc Imcrcn¡H$s H$moUË¶m KQ>H$m‘Ü¶o nmPaVo ?
1) H$mcdo 2) {dhra 3) Vcmd 4)Q>mH$s

3) In Agriculture,  groundwater  is tapped by

1)  canals 2)  sinking wells 3)  ponds 4) tanks

4) ‘mVrÀ`m H$Um§̂ modVr nmVi {’$ë‘ åhUyZ KÅ> Yaboë`m nmÊ`mbm ........... åhUVmV.
1) JwéËdr` nmUr 2) Ho${eH$m nmUr 3) hm`J«moñH$mo{nH$ nmUr 4) joÌ j‘Vm

4) Water held tightly as thin film around the soil particles that cannot be used by plants is called

...........

1) Gravitational water 2) Capillary water 3) Hygroscopic water 4) Field capacity

5) JwéËdmH$f©U YaUmÀ`m ~m~VrV, Ooìhm Obme` ^abobm AgVmo, Voìhm OmñVrV OmñV Xm~mMm VmU .... ¶oWo AgVmo.
1) YaUmÀ¶m ~moQ>moH$S>rb ^mJ 2) YaUmÀ¶m nm`mMm ‘Ybm 1/3 ^mJ
3) YaUmÀ¶m nm`mMm ‘Ü¶q~Xÿ 4) YaUmÀ¶m Q>mMoH$S>rb ^mJ

5) In case of gravity dam, when the reservoir is full, the maximum compressive stresses are at ....

1) toe 2) middle third of base 3) center of base 4) heel

6) {nH$m§À`m ê$Q> PmoZ‘Ü ò gmR>dboë`m nmÊ`mMo à‘mU Am{U àË`jmV eoVmV {Xbobo nmUr ̀ mÀ`m JwUmoÎmambm ..... åhUVmV.
1) nmUr {dVaUmMr H$m ©̀j‘Vm 2) nmUr gmR>dUwH$sMr H$m ©̀j‘Vm
3) nmUr dmnamMr H$m ©̀j‘Vm 4) nmUr dmnamMr H$m ©̀j‘Vm
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6) The ratio of the quantity of water stored in the root zone of the crops to the quantity of water

actually delivered in to the field, is called .........

1) efficiency of water distribution 2) efficiency of water storage

3) efficiency of water use 4) efficiency of water application

7) nmÊ`mÀ`m à{H«$ òÀ`m ~m~VrV Imbrbn¡H$s H$moUVo `m§{ÌH$ âbmoŠ ẁboQ>g©Mo ZwH$gmZ Amho?
1) H$monè`mVrb ‘¥V OmJm 2) Q>mH$sMr H$‘r j‘Vm Amdûm`H$ Amho
3) CÎm‘ âbm°H$ {Z{‘©Vr 4) Am°naoeZ‘Ü ò A{YH$ bd{MH$

7) Which of the following is a disadvantage of mechanical floculators in case of water treatment ?

1) Dead spaces in the corners 2) Less capacity of tank is required

3) Better floc formation 4) More flexible in operation

8) hm`S´mo{bH$ MmbH$Vm Amho
a) H$‘r nmÊ`mMr j‘Vm Agboë`m ^mar O{‘ZrV OmñV
b) H$‘r nmÊ`mMr j‘Vm Agboë`m dmbwH$m‘` O{‘ZrV OmñV
c) H$‘r nmÊ`mMr j‘Vm Agboë`m ^mar O{‘ZrV H$‘r
d) dmbwH$m‘` O{‘ZrV H$‘r nmÊ`mMr j‘Vm OmñV AgVo
darbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV?
1) ’$º$ a 2) a Am{U b ’$º$ 3) a, b Am{U c ’$º$ 4) a, c Am{U d ’$º$

8) Hydraulic conductivity is

a) Higher in heavy soils under low water potential

b) Higher in sandy soils under low water potential

c) Lower in heavy soils under low water potential

d) Lower in sandy soils under high water potential

Which of the statement/s given above is/are correct ?

1) a only 2) a and b only 3) a, b and c only 4) a,c and d only

9) H$m`_Mm _aUmoº$ q~Xy d OcYmaUm j_Vm `m Xaå`mZÀ`m nmÊ`mg ........... åhUVmV.
1) CncãY nmUr 2) àdmhr nmUr 3) gmMcoco nmUr 4) {Pancoco nmUr

9) Water between permanent wilting point and water holding capacity is called as ______.

1) Available water 2) Running water 3) Stagnant water 4) Percolated water

10) eoVVio ~m§Ymd`mÀ`m {R>H$mUr O{_ZrVrc nmÊ`mMr {PanÊ`mMr JVr ........ Agmdr.
1) _§X 2) _Ü`_ 3) OcX 4) A{V OcX

10) The site suitable for farmpond should have .......

1) Low permeability 2) Medium permeability

3) High permeability 4) Very high permeability

2) Ob‘mnZ, nmÊ`mMr JaO
1) EH$ hoŠQ>a g|._r. nmUr åhUOoM ...... KZ _rQ>a nmUr.

1) 10 2) 100 3) 1000 4) 10,000
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1) One hectare cm is equal to .............. m3 of water.

1) 10 2) 100 3) 1000 4) 10,000

2) EH$ hoŠQ>a g|._r. nmUr åhUOoM .............. Š ẁ{~H$ _rQ>a nmUr.
1) 10 2) 1000 3) 100 4) 10,000

2) One hectare centimeter water is equivalent to ......... cubic meter water.

1) 10 2) 1000 3) 100 4) 10,000

3) EH$ hoŠQ>a joÌ Vo EH$ g|{Q>‘rQ>a Imobrn ª̀V H$ìha H$aÊ`mgmR>r Amdí`H$ Agboë`m nmÊ`mMo à‘mU Š ẁ{~H$ ..........‘rQ>a
Amho.
1) 10  2) 100 3) 1000 4) 10000

3)  A volume of water necessary to cover an area of one hectare to a depth of one centimeter is equal

to cubic ..........metre.

1) 10  2) 100 3) 1000 4) 10000

4) PmS>mZo emofyZ KoVcoë`m EHy$U nmÊ`mn¡H$s gmYmaUnUo ......... nmUr PmS>mÀ`m dmT>rcm Am{U {dH$mgmcm Cn`moJr nS>Vo.
1) 10% 2) 1% 3) 5% 4) 15%

4) Out of the total water absorbed by a plant approximately .......... water is used for it's growth and

development.

1) 10% 2) 1% 3) 5% 4) 15%

5) gwê$ D$g {nH$mg ...... ho.go._r. nmÊ`mMr JaO AgVo.
1) 75 2) 175 3) 275 4) 375

5) Water requirement of Suru Sugarcane is ...... ha.cm.

1) 75 2) 175 3) 275 4) 375

6) {d{dY {nH$m§À`m nmÊ`mMr JaO `m {dYmZmMm {dMma H$am.
a) Ádmar - 450-500 {‘‘r b) J«°‘ - 250-400 {‘‘r
c) Vya - 70-140 {‘‘r d) ŵB©‘yJ - 500-700 {‘‘r
darbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV?
1) ’$º$ a 2) ’$º$ c 3) a Am{U b ’$º$ 4) a, b, c Am{U d

6) Consider the statement about Water requirement of different crops.

a) Sorghum — 450-500 mm b) Gram — 250-400 mm

c) Pigeon pea — 70-140 mm d) Groundnut — 500-700 mm

Which of the statement/s given above is/are correct ?

1) a only 2) c only 3) a and b only 4) a, b, c and d
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7) Imbrb Owidm :
JQ> "A' JQ> "~'

a) gr. B©. am‘goa I.  nmUbmoQ>mVrb gdm©V XwJ©‘ q~Xy
b) {WgoZ II. aZAm°’$‘Ü ò JmimMm ^ma
c) EH$mJ«VoMr doi III. VH©$ewÕ gyÌ
d) H$m°em°ŠQ>moZ ìhrb g°ånba IV.  nmdgmMr gamgar
n¶m©¶r CÎmao :

a b c d

1) IV III II I

2) III IV I II

3) II III IV I

4) III I IV II

7) Match the followings :

Group ‘A’ Group ‘B’

a) C.E. Ramser I, Most remote point in watershed

b) Thiessen II. Sediment load in runoff

c) Time of concentrate II. Rational formula

d0 Coshocton wheel sampler TV. Average depth of Rainfall

Answer options :

a b c d

1) IV III II I

2) III IV I II

3) II III IV I

4) III I IV II

8) {nH$mg nmUr Úmd`mMo Pmë`mg Imcrcn¡H$s H$moUVo §̀Ì O{‘ZrVrc nmUr _moOÊ`mg dmnaVm òB©c ?
1) Ý ỳQ´>m°Z àmo~ 2) Q>oÝer`mo‘rQ>a 3) {Oßg‘ ãc°H$ 4) darc gd©

8) While scheduling irrigation, which instrument can be used for measuring soil moisture content?

1) Neutron probe 2) Tensiometer 3) Gypsum block 4) All above

9) ãboZr-{H«$S>b nÕV hr ......... Mm A§XmO H$mT>Ê`mgmR>r gdm©V kmV à{H«$`m§n¡H$s EH$ Amho.
A) ~mînmoËgO©Z ~) g§̂ mì`-~mînr^dZ H$) ~mînr^dZ S>) ~mînr^dZ
n¶m©¶r CÎmao :
1) ~ ’$º$ 2) A Am{U H$ ’$º$ 3) H$ Am{U S> ’$º$ 4) S> ’$º$

9) Blaney-Criddle method is one of the best known procedures for estimating ....

a) Transpiration b) Potential-evapotranspiration

c) Evaporation d) Evapotranspiration

Answer options :

1) b only 2) a and c only 3) c and d only 4) d only

10) j¡{VO H«$m°g-goŠeZb joÌo Am{U nmUbmoQ>mMr C§Mr `m§À`mVrb g§~§Y åhUyZ AmoiIbo OmVo:
1) g‘moƒ 2) Hypsometric curve 3) Isobath 4)  Isocline
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10) The relationship between horizontal cross-sectional areas and altitudes of the watershed is known

as :

1) Contour 2) Hypsometric curve 3) Isobath 4) Isocline

11) Imcrcn¡H$s H$moUVo CnH$aU ~mînr^dZ-nUm}ËgaU (BìhmnmoQ´>mpÝñnaoeZ) _moOÊ`mgmR>r dmnaco OmVo?
1) A°{Z_mo_rQ>a 2) hm`J«mo_rQ>a 3) {nPmo_rQ>a 4) cm`gr_rQ>a

11) Which one of the following devices is used for measuring evapotranspiration ?

1) Animometer 2) Hygrometer 3) Pizhometer 4) Lycemeter

12) ‘Š`mÀ`m qgMZmgmR>r gdm©V J§̂ ra dmT>rMo Q>ßno ........... AmhoV.
1) Q>goqbJ Am{U {gbqH$J 2) aoer‘ Am{U H${UH$
3) bdH$a dZñn{Vd¥Õr Am{U H${UH$ 4) qMMmoir Am{U nrR>

12) Most critical growth stages for irrigation in maize are ...........

1) Tasseling and Silking 2) Silking and Dough

3) Early vegetative growth and Dough 4) Tasseling and Dough

13)  ...... ho nmUbmoQ> joÌ Am{U àdmhmÀ`m EHy$U bm§~rMo JwUmoÎma Amho.
1) bm§~nUmMo à‘mU 2) dVw©imH$ma à‘mU 3) Amam‘ JwUmoÎma 4) {ZMam KZVm

13) ...... is the ratio of total length of stream to the watershed area.

1) Elongation ratio 2) Circularity ratio 3) Relief ratio 4) Drainage density

3) qgMZ nÕVro - àH$ma d d¡{eîQ>ço
1) Vwfma d {R>~H$ qgMZ nÕVtMm Adc§~ Ho$ë`mZo nrH$ CËnmXZmV ......% dmT> hmoVo.

1) 12 Vo 31 2) 10 Vo 15 3) 15 Vo 20 4) 35 nojm A{YH$
1) By using sprinkler and drip irrigation system there is ............ % increase in the crop yield.

1) 12 to 31 2) 10 to 15 3) 15 to 20 4) More than 35

2) qgMZ nÕVr Am{U {VMo ¶mo½¶ dmnajoÌ ¶m~m~V AMyH$ OmoS>çm Owidm :
a) MoH$ âb{S>§J 1) PmS>m§À`m Amoit‘Yrb Aé§X I§XH$
a)  gar nÕV 2) nmÊ`mMm àX{jUm ‘mJ©
a) g‘moƒ eoVr 3) H$‘r Am{U gnmQ> boìhrOMm dmna
a) {PJ-P°J nÕV 4) S>m|Jami joÌ
n¶m©¶r CÎmao …

a b c d

1) 3 2 4 1

2) 3 1 4 2

3) 3 1 2 4

4) 1 3 2  4



For Private Circulation OnlyFor Private Circulation Only

‘hmamï´> amOn{ÌV ZmJar godm nyd©narjm gm‘J«r … gm‘mÝ` {dkmZ/ 77

For Private Circulation Only

2) Match the pair for suitability of method of irrigation.

a. Check flooding 1. Narrow ditch between rows of plants

b. Furrow method 2. Circuitous route of water

c. Contour farming 3. Low and flat levees used

d. Zig-zag method 4. Hilly area

Answer Options :

a b c d

1) 3 2 4 1

2) 3 1 4 2

3) 3 1 2 4

4) 1 3 2  4

3) {R>~H$ qgMZmÛmao nmÊ`mVyZ IVo XoÊ`mÀ`m nÕVrcm ...... Ago åhUVmV.
1) ha~rJoeZ 2) \${Q>©JoeZ 3) ZoìhrJoeZ 4) BarJoeZ

3) Application of fertilizers through drip irrigation system is known as ......

1) Herbigation 2) Fertigation 3) Navigation 4) Irrigation

4) Jhÿ {nH$m_Ü ò nmUr ì`dñWmnZmgmR>r A{V g§doXZerc AdñWm H$moUVr?
1) _wHw$Q>_yio \w$Q>Uo 2) H$m§S>çmMr dmT> 3) \y$Io \w$Q>Uo 4) \w$cmoam òUo

4) Which is the most critical crop growth stage for irrigation in wheat?

1) crown root initiation 2) jointing

3) tilloring 4) flowering

5) {R>~H$ qgMZmMo ........ ho _yc ŷV VÎd Amho.
1) dma§dma cdH$amV cdH$a Amdí`H$ nU H$_r nmUr XoUo 2) Ceram nU ^anya nmUr XoUo
3) qH$_V OmñV d CËnÞhr OmñV 4) H$_rV H$_r qH$_V d CËnÞhr OmñV

5) Basic principle of drip irrigation system is .........

1) High frequency & low discharge 2) Low frequency & high discharge

3) High cost and high yield 4) Low cost and high yield

4) Ob{dVaU
1) JdVmi Ob‘mJ© gamgar àdmhmÀ`m doJmbm AZwê$n Ago {S>PmBZ Ho$bobo AmhoV

1) 1.0 m 2) 1.5 Vo 2 m/s 3) 2.5 mfk 4) darbn¡H$s Zmhr
1) Grassed waterways are designed to suit the average flow velocity as

1) 1.0 m 2) 1.5 to 2 m/s 3) 2.5 mfk 4) None of the above

2) H$mbì`mÀ`m ‘mÏ`mda 20 Š ẁ‘oH$ XamZo nmUr gmoS>bo OmVo. Oa B[aJoeZ Sw>Q>r  1000 hoŠQ>a/Š ỳ‘oH$ Agob Am{U
g§H«$‘Um‘Ü ò nmÊ`mMr hmZr 25% hmoV Agob, Va qgMZmgmR>r O{‘ZrMo joÌ {H$Vr?
1) 10,000 hoŠQ>a 2) 12,500 hoŠQ>a 3) 15,000 hoŠQ>a 4) 17,500 hoŠQ>a

2) The water is released at the rate of 20 cumec at the head of a canal. If the duty at the field is 1000

Ha/cumec and loss of water in transit is 25%, what would be the area of land that can be irrigated?

1) 10,000 Ha 2) 12,500 Ha 3) 15,000 Ha 4) 17,500 Ha
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3) ........ nmUr XoÊ`mMr nÕVr hr Img H$ê$Z D$g, ~Q>mQ>m, {_aMr BË`mXr {nH$m§gmR>r `mo½` AgVo.
1) dm\$m nÕVr 2) Amio nÕVr 3) gar nÕVr 4) _moH$mQ> nmUr nÕVr

3) The ..... irrigation method is particularly suited for crops like sugarcane, potato, chillies etc.

1) Border 2) Check basin 3) Furrow 4) Wild flooding

4) eoVr Vù`mVyZ hmoUmam nmÊ`mMm {ZMam ...... dmnê$Z n[aUm‘H$maH$arË`m Wm§~{dVm òVmo.
1) dmiy 2) nmò Q>m 3) nr.E_.E. 4) ~§Q>moZmB©Q>

4) Seepage control from farm pod can be controlled effectively by using ......

1) Sand 2) Silt 3) P.M.A. 4) Bentonite

5) ............ Mm Cn`moJ PmS>mVyZ ~mînr^dZ Am{U ~mînmoËgO©ZmÛmao hmoUmè¶m nmÊ`mMm èhmg H$_r H$aÊ`mgmR>r hmoVmo.
1) H$m~©ZS>m`{P_ 2) B{W{cZ 3) Ho$Amo{cZ 4) H$ëQ>ma

5) _______ is used to reduce evapotranspiration loss from plants.

1) Carbandizim 2) Ethiline 3) Kaoline 4) Caltar

5) Obg§YmaU
1) d¡Ym{ZH$ AmYmamda ‘¥X g§dY©Z Am{U g§~§{YV CnH«$‘ hmVr KoUmam ^maVmVrb n{hbm ZXr KmQ>r {ZJ‘ àH$ën H$moUVm

hmoVm?
1) Xm‘moXa ìh°br H$m°nm}aoeZ 2) H¥$îUm ìh°br H$m°nm}aoeZ
3) J§Jm ìh°br H$m°nm}aoeZ 4) darbn¡H$s H$mhrhr Zmhr

1) Which was the first river Valley Corporation Project in India to take up soil conservation and the

relative activities on a statutory basis ?

1) Damodar Valley Corporation 2) Krishna Valley Corporation

3) Ganga Valley Corporation 4) None of the above

2) nmUbmoQ> ì`dñWmnZ H$m ©̀H«$‘ gwê$ H$aÊ`mgmR>r H$moUVr ‘yb ŷV ‘m{hVr Amdûm`H$ Amho?
A) nO©Ý¶{df¶H$ AmH$S>odmar ~) bmoH$g§»`m Am{U newYZmMr AmH$S>odmar
H$) Q>mH$s, {dhra B. gmaIo CnbãY ObòmoV S>) ñWbmH¥${V
n¶m©¶r CÎmao …
1) (A) ’$º$ 2) (A) Am{U (H$) ’$º$
3) (A), (H$) Am{U (S>) ’$º$ 4) (A), (~), (H$) Am{U (S>)

2) Which basic information is necessary to start the Watershed Management Programme ?

a) Data on rainfall b) Statistics of population and livestock

c) Existing water sources like tank, well etc. d) Topography

Answer Options :

1) (a) only 2) (a) and (c) only

3) (a), (c) and (d) only 4) (a), (b), (c) and (d)
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3) Imbrbn¡H$s H$moUVo gd© nmUbmoQ> ì`dñWmnZ H$m ©̀H«$‘m§Mo C{Ôï> AmhoV?
1) nmdgmÀ`m nmÊ`mMm O{‘ZrV {eaH$md dmT>dUo
2) Obàdmhm‘wio hmoUmao ZwH$gmZ {Z §̀{ÌV H$aUo
3) Cn ẁº$ H$maUm§gmR>r Obàdmh ì`dñWm{nV H$aUo Am{U dmnaUo
4) darb gd©

3) Which of the following are the objectives of all watershed management programmes ?

1) To increase infiltration of rainwater into the soil

2) To control damage by runoff

3) To manage and utilize runoff for useful purposes

4) All of the above

4) Q>oaogMr bm§~r pñWa qH$dm n[adV©Zr` loUr AgVo Am{U gwa{jV doJmV OmñVrMo nmUr dmhÿZ ZoÊ`mgmR>r dmnabr OmVo......
1) boìhb Q>oaog 2) J«oS>oS> Q>oaog 3) ~|M Q>oaog 4) darbn¡H$s Zmhr

4) A terrace has a constant or variable grade along its length and used to convey the excess water at

a safe velocity is ......

1) Level terrace 2) Graded terrace 3) Bench terrace 4) None of the above

5) OmJÀ`m OmJr nmUr gmR>{dÊ`mgmR>r ...... H$amdr.
1) g_nmVirV Zm§JaQ> 2) CVmamà_mUo Zm§JaQ> 3) _mVr KÅ> 4) agm`Zm§Mr \$dmaUr

5) In situ water harvesting is done by ......

1) Contour ploughing 2) Down the slope ploughing

3) Soil compaction 4) Spraying chemicals

6) H$moUË`m O{_ZrMr OcYmaU eº$s A{YH$ AgVo?
1) CWi 2) _Ü`_ Imoc 3) Imoc 4) `mn¡H$s Zmhr

6) Which type of land has more water-holding capacity ?

1) Shallow 2) Medium deep 3) Deep 4) None of the above

7) ........ H$[aVm CVmamMo ~m§Y Cn ẁº$ AmhoV.
1) H$_r nmdgmMm àXoe 2) _Ü`_ nmdgmMm àXoe
3) OmñV nmdgmMm àXoe 4) g_erVmoî_ hdm_mZmMm àXoe

7) Graded bunds are suitable for ........

1) Low rainfall region 2) Medium rainfall region

3) High rainfall region 4) Semi arid tropics

8) .....Ho$ë`mZo nmUr O{_ZrV {Q>H$dyZ YaÊ`mg Am{U {nH$mMr nmUr CËnmXZ j_Vm dmT>{dÊ`mgmR>r _XV hmoVo.
1) Zm§JaUr 2) qgMZ 3) daIV 4) AÀN>mXZ

8) ...... helps in water conservation and increasing water use efficiency of a crop.

1) Ploughing 2) Irrigation 3) Top dressing 4) Mulching



For Private Circulation OnlyFor Private Circulation Only

‘hmamï´> amOn{ÌV ZmJar godm nyd©narjm gm‘J«r … gm‘mÝ` {dkmZ/ 80

For Private Circulation Only

9) nmUcmoQ> joÌ {dH$mg H$m`m©_wio H$moUVr C{Ôïo> gmÜ` hmoVrc?
1) O{_ZrMr Yyn Wm§~yZ ZXr Zmë`mVyZ dmhÿZ OmUmao JmimMo à_mU H$_r hmoB©c.
2) ŷJ^m©Vrc nmÊ`mMo nwZ ©̂aU hmoB©c.
3) nrH$ cmJdS>rÀ`m `mo½` nÜXVrMm dmna H$aVm òB©c.
4) darc gd© gmÜ` H$aVm òB©c.

9) Which objectives are achieved due to watershed development activity ?

1) Checking of soil erosion, controlling land degradation, safety disposing off excess

run off through gullies and rivers.

2) Recharging of groundwater

3) Use of suitable cropping systems

4) All the above can be achieved

10) nmUcmoQ> joÌmV JdV ẁº$ nmUr _mJm©Mm Cn`moJ ........ hmoVmo.
1) joÌmÀ`m gw§XaVogmR>r 2) ŷn¥ð>mdarc nmdgmMo àdm{hV nmUr H$_r H$aÊ`mgmR>r
3) nmUr gwa{jV H$mTy>Z XoÊ`mgmR>r 4) {PanÊ`mMm doJ dmT>{dÊ`mgmR>r

10) The grassed waterways are used in the watershed for ...... .

1) beautification 2) reducing run off

3) safe disposal of water 4) increasing infiltration

6) ObàXÿfU
1) ImanmU nQ²>Q>çmVrb eoVrVrb qgMZm‘wio {nH$m§À¶m CËnmXZmda n[aUm‘ hmoÊ¶mMr H$maUo åhUOo …

a) O{‘ZrÀ¶m nmoVmÀ¶m {ZH¥$ï> XOm©‘wio b) {nH$m§Mr dmT> Iw§Q>ë¶m‘wio
c) nmZm§À¶m {ndionUm‘wio d) O{‘ZrVrb jmam§À¶m g§M¶m‘wio
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV?
1) (a) ’$º$ 2) (a) Am{U (b) ’$º$ 3) (a), (b) Am{U (c) ’$º$ 4) (a) Am{U (d) ’$º$

1) Irrigation in the fields of saline tract affects the productivity of crops because of :

a) Degradation of soil structure b) Growth inhibition of plants

c) Leaf discolouration d) Salt accumulation in soil

Which of the given above statement/statements is/are correct ?

1) (a) only 2) (a) and (b) only 3) (a), (b) and (c) only 4) (a) and (d) only

2) A{V nmÊ¶m‘wio dZñnVr ‘¥V hmoVmV H$maU ....
1) nmÊ¶m‘wio ‘mVrÀ¶m gm‘yMo CXm{gZrH$aU hmoVo
2) ‘wio Am°pŠgOZnmgyZ d§{MV hmoVmV
3) nmÊ¶m‘wio ‘wimdarc naOrdtMr dmT> hmoVo
4) dZñnVrÀ¶m dmT>rgmR>r Amdí¶H$ Agbobr gd© I{ZOo nmÊ¶mV ZgVmV

2) A plant is killed by over watering because

1) Wate neutralizes the pH of the soil

2) The roots are deprived of oxygen

3) Water supports the growth of root parasites

4) Water does not have all the necessary mineral for plant growth
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3) grdoO Q´rQ>‘|Q> ßbm§Q>À`m {S>PmBZgmR>r Imbrbn¡H$s H$moUVo ‘wÔo d¡Y AmhoV?
a) àË òH$ CnMma à{H«$ ògmR>r EH$mnojm OmñV ẁ{ZQ> àXmZ H$aUo Mm§Jbo.
b) gd© ẁ{ZQ²ggmR>r eŠ`Vmo ~m`nmg Q>mimdoV.
c) hm`S´mo{bH$ {S>PmBZZo Amdûm`H$ VoWo ñd-ñdÀN>VoMm doJ gw{Z{íMV Ho$bm nm{hOo.
n`m©̀ r CÎmao :
1) ’$º$ (a) Am{U  (b) 2) ’$º$ (b) Am{U (c) 3) ’$º$ (a)  Am{U (c) 4) darb gd©

3) Which of the following points are valid for design of sewage treatment plants ?

(a) It is better to provide more than one unit for each treatment process.

(b) Preferably by-passes should be avoided for all units.

(c) Hydraulic design should ensure self-cleaning velocity wherever required.

Answer options :

1) Only (a) and (b) 2) Only (b) and (c) 3) Only (a) and (c) 4) All of the above

4) H$Mam {ZOªVwH$sH$aU Ho$boë`m nmÊ`mMm nwZdm©na H$aVmZm, ...... H$mTy>Z Q>mH$bo OmVo.
1) KQ>H$ 2) {dfmUy Am{U naOrdr 3) XJS> 4) darbn¡H$s H$mhrhr Zmhr

4) During recycling of waste disinfected water, there is removal of ......

1) Elements 2) Viruses and Parasites

3) Stones 4) None of the above

5) AZoH$ df} gm§S>nmÊ`mMm H$Mam gVV dmnaë`mZo .............. daÀ`m O{‘ZrV g§dY©Z hmoD$ eH$Vo.
1) Amdí`H$ nmofH$ 2) OS> YmVy
3) ‘mVrMr CËnmXH$Vm 4) darbn¡H$s Zmhr

5) A continuous application of sewage waste over several years may result in enrichment of in the

............. top soil.

1) Essential nutrients 2) Heavy metals

3)Soil productivity 4) None of the above
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CÎmao - (15) qgMZemó- Obg§YmaU d nmUr ì`dñWmnZ

1) qgMZ ObmMo òmoV, nmÊ¶mMo JwUY‘©
1-3 2-3 3-2 4-3 5-4 6-4 7-1 8-1 9-1 10-1

2) Ob‘mnZ, nmÊ`mMr JaO
1-2 2-3 3-2 4-3 5-3 6-4 7-2 8-4 9-1 10-2
11-4 12-1 13-4

3) qgMZ nÕVro - àH$ma d d¡{eîQ>ço
1-1 2-2 3-2 4-1 5-1

4) Ob{dVaU
1-2 2-3 3-3 4-4 5-3

5) Obg§YmaU

1-1 2-4 3-4 4-2 5-1 6-3 7-3 8-4 9-4 10-2

6) ObàXÿfU
1-4 2-2 3-3 4-2 5-2
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(16) nrH${dkmZ - nrH$m§Mr dmT>, nmofU, VUo
1) nrH${dkmZ
2) {~`mUo - ewÕVm d CJdUrMo à_mU
3) ‘hÎdmMr nrHo$
4) nrH$ nÕVr -nrH${Z¶moOZ
5) nrH$m§Mr dmT> d nmofU
6) VUo d VUZmeH$
7) dZñnVr amoJ ì`dñWmnZ - H$sQ>H$ZmeHo$

1) nrH${dkmZ

2) {~`mUo - ewÕVm d CJdUrMo à_mU

1) à{V hoŠQ>ar 100 {H$cmoJ«m_ {~`mÊ`mMr {e\$mag Agë`mg d {~`mÊ`mMr ewÕVm d CJdUrMo à_mU AZwH«$_o eoH$S>m
100 d 90 Agoc Va hoŠQ>ar EHy$U {H$Vr {~`mUo cmJoc ?
1) 112 {H$cmo 2) 111 {H$cmo 3) 111.1 {H$cmo 4) 113 {H$cmo

1) At a seedrate fo 100 kg/ha of wheat at purity & germination percentage of 100 & 90 respectively,the

seed requirement will be

1) 112 kg 2) 111 kg 3) 111.1 kg 4) 113 kg

2) {~`mUo Am{U namJH$U nmbH$ `m§À`m ’w$bm§À`m g‘H«$‘Umbm ........ Ago åhUVmV.
1) W¸$ H$aUmao 2) {ZqH$J 3) namJU 4) qgH«$moZmBPoeZ

2) The synchrony in flowering of seed and pollinator parent is termed as ........

1) Staggering 2) Nicking 3) Pollination 4) Synchronization

3) H$m°\$s {nH$mMr CJdUeº$s dmT>[dÊ`mgmR>r {~Oà{H«$`m Ho$cr OmVo, Ë`mg ................ åhUVmV.
1) ñH$ar{\$Ho$eZ 2) ñH$mcS>tJ 3) A°{gS> ñH$ar{\$Ho$eZ 4) ñQ´>mQ>r{\$Ho$eZ

3) The germination of coffee is improved by seed treatment called as ..........

1) Scarification 2) Scalding 3) Acid scarification 4) Stratification

4) Imbrbn¡H$s ...... H¥${Ì‘ à{H«$¶o‘Ü¶o Ab¢{JH$ OZZm§Ûmao ¶mo½¶ ImoS> Am{U Amdí¶H$ ‘wim§Ûmao àOZZ Ho$ë¶m OmVo.
1) ~S>tJ 2) boAatJ 3) H$Q>tJ 4) J«mâQ>tJ

4) ...... is an Artifical method of Asexual Reproduction, used to produce plants, combining desired

stem with favourable Root Characteristic.

1) Budding 2) Layering 3) Cutting 4) Grafting
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3) ‘hÎdmMr nrHo$
1) {d{dY ‘mJmªMm Adb§~ H$aUmè`m ........ àH$maÀ¶m dZñnVr (‘H$m, Ádmar, ~mOar, D$g) CO, Zo g‘¥Õ pñWVrg H$‘r

à{VgmX XoVmV.
1) C

1
2) C

2
3) C

3
4) C

4

1) The responses of ........ plants (maize, sorghum, millet, sugarcane) which follow different pathways

are less responsive to enriched CO, levels.

1) C
1

2) C
2

3) C
3

4) C
4

2) Imbrbn¡H$s H$moUVo nrH$ Ima O{‘ZrgmR>r VwbZmË‘H$ÑîQ>çm OmXm ghZerb Amho ?
1) ^mV 2) ~mbu 3) ha^am 4) ‘wim

2) Which crop, among the following, is relatively more tolerant to saline soils ?

1)  Rice 2)  Barley 3)  Chickpea 4)  Radish

3) Imbrb {nH$m§n¡H$s, {XdgmMr bm§~r R>am{dH$ ‘hÎdmÀ`m (12 Vmg) nojm H$‘r AgVmZm ’w$bUmar bhmZ {XdgmMr
dZñnVr H$moUVr?
1) gmIa ~rQ> 2) gỳ ©’y$b 3) gmò m~rZ 4) H$aS>B©

3)  Among the following crops, which is a short-day plant that flowers when the day length is less

than a certain critical length (< 12 hours) ?

1) Sugar beet 2) Sunflower 3) Soybean 4) Safflower

4) A{VOmñV ‘rR> à{VamoYH$ nrH$ :
1) ~mbu 2) ~rÝg 3) Jhÿ 4) `mn¡H$s H$mhrhr Zmhr

4) Highly salt resistant crop :

1) Barley 2) Beans 3) Wheat 4) None of these

4) nrH$ nÕVr -nrH${Z¶moOZ
1) _hmamï´>mVrc O_rZ dmnamÀ`m Q> o̧$dmarZwgma, {Zìdi noaUr joÌ gmYmaUV… ......% Amho.

1) 29-40 2) 40-45 3) 55-58 4) 65-70
1) As per the percentage distribution of land utilisation in Maharashtra, the net sown area is about

............... %

1) 29 - 40 2) 40 - 45 3) 55 - 58 4) 65 - 70

2) H«$m°n bm°qJJ hr EH$ nÕV Amho ...
1) O{‘ZrMr gwnrH$Vm ‘yë`m§H$Z
2) {nH$mÀ`m ZwH$gmZrMo ‘yë`m§H$Z H$aUo
3) nrH$ CËnmXZmgmR>r nmofH$ VËdm§À`m JaOm§Mo ‘yë`m§H$Z H$aÊ`mgmR>r dZñnVr {dl²bofU
4) IVm§Mr `mo½`Vm VnmgUo



For Private Circulation OnlyFor Private Circulation Only

‘hmamï´> amOn{ÌV ZmJar godm nyd©narjm gm‘J«r … gm‘mÝ` {dkmZ/ 85

For Private Circulation Only

2) Crop logging is a method of ......

1) Soil fertility evaluation

2) Assessing crop damage

3) Plant analysis for assessing requirements of nutrients for crop production

4) Testing suitability of fertilizers

5) nrH$m§Mr dmT> d nmofU
1) {nH$mgmR>r dmnaë`m OmUmè`m amgm`{ZH$ IVm§À`m VwbZoV, Z°Zmo IVm§Mr ........ nQ> H$‘r JaO AgVo.

1) 40-60 2) 60-80 3) 80-100 4) 100-120
1) Nanofertilizers are having .......... times less requirement as compared to chemical fertilizers

applied to crop.

1) 40-60 2) 60-80 3) 80-100 4) 100-120

2) {nH$m§À`m dmT>rgmR>r gdm©V AZwHy$b àH$me ............ Amho.
1) bmb 2) ìhm`moboQ> 3) {Zim 4) {hadm

2) The most favourable light for the growth of crops is ............

1) Red 2) Violet 3) Blue 4) Green

3) ŵB©‘wJmVrb Z ^aboë`m e|Jm (nm°ßg) ........ À`m H$‘VaVo‘wio hmoVmV.
1) nmoQ>°{e`‘ 2) H°$pëe`‘ 3) gë’$a 4) ‘°¾o{e`‘

3) Unfilled pods (pops) in groundnut are due to the deficiency of ........

1) Potassium 2) Calcium 3) Sulphur 4) Magnesium

4) S>midJu` {nH$m§Mo CËnmXZ dmT>rgmR>r H$moUVr gyÌo _hÎdmMr AmhoV?
1) {~`mÊ`mg am`Pmo{~`_Mr à{H«$`m 2) 25 {H$cmoZÌ/hoŠQ>ar
3) nrH$ g§ajU 4) darc gd©

4) Productivity of pulses is improved by ......

1) Seed Treatment with Rhizobium 2) 25 kg N/ha

3) Plant protection 4) All the above

5) _H$m {nH$m_Ü ò Imcrcn¡H$s H$moUVr nrH$ dmT>rMr AdñWm _moS>Vo?
1) A°amoqdJ 2) ÁdmÝQ>tJ 3) {Q>catJ 4) {gëH$s̈J

5) In maize, which is the growth stage among the following.

1) Arrowing 2) Jointing 3) Tillering 4) Silking

6) VUo d VUZmeH$
1) hamir VUmMo Mm§Jë`màH$mao {Z §̀ÌU H$aÊ`mgmR>r ...... VUZmeH$mMm dmna H$aVmV.

1) 2, 4-S>r 2) ½cm`\$m°goQ> 3) namH$m°Q> 4) n|Q>m_oWr{cZ
1) Hariyali (cynodon dactylon) is effectively controlled by ......

1) 2, 4-D 2) Glyphosate 3) Paraquat 4) Pendamethaline
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2) eoVr_Ü ò O§VwZmeH$mMm dmna Ho$ë`m_wio Imcrcn¡H$s H$moUVm n[aUm_ hmoVmo ?
1) hdm àXyfU 2)  _¥Xm Yyn
3) ñdmñÏ` ZwH$gmZ OmoIr_ 4) dZñnVrÀ`m Xw_ui OmVrMm Zm`ZmQ>

2) Out of the following, which is the effect due to the use of pesticides in agriculture ?

1) Air pollution 2) Soil erosion

3) Harmful health hazard 4) Extinction of rare species of flora

3) Echinochloa colonum, E.Crus-gaili gmaIo VU Zoh‘r {nH$mer g§~§{YV AgVmV.......
1) Vm§Xyi 2) Ádmar 3) MUo 4) ‘H$m

3) Weeds like Echinochloa colonum, E.Crus-gaili are always associated with crop .......

1) Rice 2) Sorghum 3) Chickpea 4) Maize

4) XoemMo ‘yi Zgbobo VU ............ åhUyZ AmoiIbo OmVo.
1) ~§YZH$maH$ VU 4 2) Amjonmh© VU 3) CnJ«h VU 4) naXoer VU

4) Weed not native of a country is known as ..............

1) Obligate weed 4 2) Objectionable weed 3) Satellite weed 4) Alien weed

5) VUZmeH$mMr H¥$Vr ñdrH$mabobr nÕV Amho
1) MN àH$meg§íbofU Am{U ídgZ amoIVo
2) O¡dg§íbofU Am{U noer {d^mOZ à{H«$ òg BZ{h{~Q> H$aVo
3) Agm‘mÝ` D$VH$m§Mm {dH$mg hmoB©b Am{U CJdU à{H«$ òg à{V~§Y hmoB©b
4) darb gd©

5) Accepted mode of action of herbicide is

1) MN inhibits the photosynthesis and respiration

2) Itinhibits the biosynthesis and cell division process

3) There will be abnarmal tissue development and inhibition of the germination process

4) All of the above

7) dZñnVr amoJ ì`dñWmnZ - H$sQ>H$ZmeHo$
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CÎmao - (16) nrH${dkmZ - nrH$m§Mr dmT>, nmofU, VUo

1) nrH${dkmZ

2) {~`mUo - ewÕVm d CJdUrMo à_mU

1-3 2-2 3-2 4-4

3) ‘hÎdmMr nrHo$
1-4 2-2 3-3 4-1

4) nrH$ nÕVr -nrH${Z¶moOZ
1-3 2-1

5) nrH$m§Mr dmT> d nmofU
1-3 2-1 3-2 4-4 5-4

6) VUo d VUZmeH$
1-2 2-3 3-1 4-4 5-4

7) dZñnVr amoJ ì`dñWmnZ - H$sQ>H$ZmeHo$
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(17) {nHo$ Am{U g§H$[aV OmVr

1) g§H$arH$aU
2) OZwH$s¶ V§ÌkmZ
3) V¥UYmÝ¶mÀ¶m OmVr
4) H$S>YmÝ¶mÀ¶m OmVr
5) ^aS>YmÝ¶mÀ¶m OmVr
6) Vob{~¶m§À¶m OmVr
7) ì¶mnmar {nH$m§À¶m OmVr

1) g§H$arH$aU
1) ‘yi qH$dm Ý ỳpŠcAg {~`mÊ`mgmR>r BVa gd© JwUdÎmoÀ`m ‘mnX§S>m§À`m Cƒ ‘mZH$m§gh AZwdm§{eH$ Am{U ^m¡{VH$ ewÕVm

Amho
1) 95% ewÕVm 2) 100% ewÕVm 3) 98% ewÕVm 4) 97% ewÕVm

1) The genetic and physical purity along with the high standard of all other quality parameters for

basic or nucleus seed has

1) 95% purity 2) 100% purity 3) 98% purity 4) 97% purity

2) Imbrb Owidm :
gåH$[aV OmVr/hm`~«rS> {nH$mMo Zmd
a) TAKPS-5 I) ŵB©‘yJ
b) NIAW 3624 II) Ádmar
c) PU-0609-43 III) ~«oS> Jhÿ
d) K-1812 IV) CS>rX

V) ìhr. S´‘ Jhÿ
n`m©¶r CÎmao :

(a) (b) (c) (d)

1) (ii) (v) (iii) (iv)

2) (i) (v) (iv) (ii)

3) (iii) (v) (iv) (i)

4) (ii) (iii) (iv) (i)
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2) Match the following :

Variety/Hybrid Crop Name

a) TAKPS-5 I) Groundnut

b) NIAW 3624 II) Sorghum

c) PU-0609-43 III) Bread Wheat

d) K-1812 IV) Urdbean

V) Drum Wheat

Answer options:

(a) (b) (c) (d)

1) (ii) (v) (iii) (iv)

2) (i) (v) (iv) (ii)

3) (iii) (v) (iv) (i)

4) (ii) (iii) (iv) (i)

3) {Xgm`bm gma»`mM Agboë`m na§Vw {Xboë`m amoJmbm à{VH$ma H$aÊ`mgmR>r {^Þ OrÝg Agboë`m AZoH$ {nT>çmVrb
{~`m§Mo {‘lU H$ê$Z H$moUVr amoJà{V~§YH$ OmV V`ma Ho$br OmVo?
1) ~m`moQ>oH$ 2) ‘ëQ>rbmBZ 3) hm`{~«S> 4) darb gd©

3) Which variety is usually created by mixing seeds of several lines that are similar in appearance

but have different genes for resistance to a given disease ?

1) Biotech 2) Multiline 3) Hybrid 4) All of the above

4) ewÕ OmVrÀ¶m dmU åhUOo ........
1) {^Þ AZwd§{eH$ JwUgwÌmÀ¶m OmoS>çm Am{U g§~§Y
2) ’$º$ {^Þ AZwd§{eH$ JwUgwÌmÀ¶m OmoS>çm
3) gma»¶m AZwd§{eH$ JwUgwÌmÀ¶m OmoS>çm Am{U àVdmarZo bmdbobm g§J«h
4) ’$º$ gma»¶m AZwd§{eH$ JwUgwÌmÀ¶m OmoS>çm

4) Pure line breed refers to

1) Heterozygosity and linkage 2) Only heterozygosity

3) Homozygosity and self-assortment 4) Only homozygosity

5) ZdrZ dZñnVrMo dmU V¶ma H$aVmZm H$moUVr à{H«$¶m dmnaVmV?
1) {ZdS> Am{U Cn¶moJ 2) CËn[adV©Z Am{U {ZdS>
3) {ZdS> Am{U g§H$aU 4) Cn¶moJ Am{U CËn[adV©Z

5) The new varieties of plants are produced by

1) Selection and Introduction 2) Mutation and Selection

3) Selection and Hybridization 4) Introduction and Mutation

6) gma»¶m {^Þl¶m‘wio àOmoËnVr J‘mdÊ¶mbm ......... åhUVmV
1) g§H$amVrb Omo‘
2) àOZZmda ~mhoaMm X~md
3) OdiÀ¶m ZmË¶mVrb dZñnVrnmgyZ hmoUmar àOmoËnVr CXm{gZVm
4) darbn¡H$s H$moUVohr Zmhr
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6) Heterosis lost due to continuous inbreeding is known as .......

1) Hybrid vigour 2) Outbreeding pressure

3) Inbreeding depression 4) None of the above

7) {^Þml¶ åhUOo ...........
1) CËñ’y$V© CËn[adV©Z ñdê$n 2) CËn[adV©Z àoaUm
3) XmoZ qH$dm A{YH$ A{ÛVr¶ d¡{eîQ>çm§Mo {‘lU 4) Ë¶m§À¶m nmbH$m§à{V g§H$a loð>Ëd

7) Heterosis is  ........

1) Appearanced of spontaneous mutations 2) Induction of mutations

3) Mixture of two or more traits 4) Superiority of hybrids over their parents

2) OZwH$s¶ V§ÌkmZ

1) ........... hm OZwH$ (OrZ) Jhÿ {nH$m_Yrc ~wQ>H$m dmU {Z_m©U H$aÊ`mgmR>r dmnaÊ`mV Amcm.
1) ZmoarZ-10 2) {Q>\$Q²>-23 3) {_cmo-Imnra-10 4) S>r-OrAmo-dy-{OZ

1) ...... Gene is used for developing the dwarf varieties in wheat crop.

1) Norin-10 2) Tift-23 3) Milo-Khapir-10 4) Dee-Geo-Woo-Gen

2) H$moUË¶m OZwH$s¶ ê$nm§V[aV {nH$m‘Ü ò OZwH$s¶ A{^¶m§{ÌH$s V§ÌmZo A OrdZgÎd {Z‘m©U H$aUmar VrZ OZwHo$ KmVbr
AmhoV?
1) H$ë¶mU gmoZm Jhÿ 2) ‘Ywa Ádmar 3) g§H$[aV ~mOar 4) gwdU© Vm§Xÿi

2) Name the transgenic crop in which three genes for synthesis of vitamin A are introduced through

the technique of genetic engineering.

1) Kalyan Sona wheat 2) Sweet sorghum    3) Hybrid bajra 4) Golden rice

3) V¥UYmÝ¶mÀ¶m OmVr

1) àW‘ g§H$[aV Vm§Xyi 1976 ‘Ü ò g§H$[aV Vm§Xyi H«$m§VrMo OZH$ .......... `m§Zr {dH${gV Ho$bo hmoVo.
1) àmo’o$ga ẁdmZ bm±J qnJ 2) S>m°. E‘.Eg. ñdm{‘ZmWZ
3) S>m°. Zm°‘©Z B©. ~moabm°J 4) ~madmbo ~r.Ama.

1) First hybrid rice was developed by.......... in 1976, the father of Hybrid Rice Revolution.

1) Professor Yuvan Long Ping 2) Dr. M.S. Swaminathan

3) Dr. Norman E. Borlaug 4) Barwale B.R.

2) "gømÐr' g§H$arV ^mV OmVr ...... Zo V`ma Ho$ë`m.
1) S>m°. ~m. gm. H$mo. H¥$. {d. Xmnmocr 2) _. nw. H¥$. {d. amhþar
3) _. H¥$. {d. na^Ur 4) S>m°. n§. Xo. H¥$. {d. AH$mocm

2) 'Sahyadri' rice hybrids were developed by ...........

1) Dr. B.S.K.K.V. Dapoli 2) M.P.K.V. Rahuri

3) M.A.U. Parbhani 4) Dr. P.D.K.V. Akola
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4) H$S>YmÝ¶mÀ¶m OmVr

1) Imcrcn¡H$s ha^è`mMm Hw$R>cm dmU  _a amoJmg ghZerc AgyZ C{eam noaUrgmR>r `mo½` Amho ?
1) {dO` 2) {demc 3) {damQ> 4) {Xp½dO`

1) Which of the following varieties of Gram is tolerant to wilt and suitable for late sown condition?

1) Vijay 2) Vishal 3) Virat 4) Digvijay

2) ‘mM© 2023 ‘Ü ò AbrH$S>oM A{Ygy{MV Ho$boë`m BDN - 2013 - 2 (aoUwH$m) ¶m VwarÀ¶m OmVrMo Imbrbn¡H$s H$moUVo
d¡{eï²>` Amho?
a) ‘hmamï´>, JwOamV, ‘Ü` àXoe, amOñWmZ Am{U N>ÎmrgJS> `m amÁ`m§gmR>r `mMr {e’$mag Ho$br OmVo.
b) Ë`mV nm§T>è`m a§JmMo ~r AgVo.
c) Vo bdH$a n[an¹$ hmoVo.
d) ho {dëQ>bm à{VamoYH$ Amho Am{U ñQ>[a{bQ>r ‘moµOoH$gmR>r amoJà{VH$maH$ Amho.
n`m©¶r CÎmao :
1) a, b, c Am{U d 2) b Am{U c ’$º$ 3) a Am{U d ’$º$ 4) ’$º$ a

2) Which of the following is/are not feature/s of BDN — 2013 — 2 (Renuka) variety of pigeonpea

recently notified in March 2023 ?

a) It is recommended for State of Maharashtra, Gujarat, Madhya Pradesh, Rajasthan and Chattisgarh.

b) It has white colour seed.

c) It is early maturing.

d) It is resistant to wilt and immune to sterility mosaic.

Answer options:

1) a, b, c and d 2) b and c only 3) a and d only 4) a only

3) ha^am 20211 OmVrÀ`m ~m~VrV Imbrbn¡H$s H$moUVo JwU Iao ZmhrV/Zmhr?
a) dmiboë`m VUmdmÀ`m pñWVrV 3915 {H$bmo/hoŠQ>a CËnmXZ j‘Vm Agbobo ho Cƒ CËnmXZ XoUmao Amho.
b) ho {OZmo{‘Šg - ghmæ`H$ àOZZmÛmao {dH${gV Ho$bo OmVo.
c) ho ICAR — IARI Am{U ICRISAT À`m ghH$m`m©Zo {dH${gV Ho$bo Amho.
d) ho H$Zm©Q>H$ Am{U Am§Y« àXoe amÁ`mV bmJdS>rgmR>r gmoS>bo OmVo.
n`m©¶r CÎmao :
1) ’$º$ a 2) ’$º$ b 3) c Am{U d ’$º$ 4) ’$º$ d

3) Which of the following traits is/are not true in respect of chick pea 20211 variety ?

a) It is high yielding with yield potential of 3915 kg/ha under wilt stress condition.

b) It is developed via genomics — assisted breeding

c) It is developed by collaborative efforts ICAR — IARI and ICRISAT.

d) It is released for cultivation in Karnataka and Andhra Pradesh State.

Answer options:

1) a only 2) b only 3) c and d only 4) d only
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5) ^aS>YmÝ¶mÀ¶m OmVr

1) Imbrb OmoS>çm Owidm :
      ~mOar        dZñnVr Zmd
A) ~moQ> ~mOar 1) Panicum sumatrense

~) N>moQ>r ~mOar 2) Setaria BQ>m{cH$m
H$) ’$m°ŠgQ>ob ~mOar 3) n°{ZH$‘ {‘br{g`‘
S>) àmogmo ~mOar 4) A°ë ẁ{gZ H$moamH$mZm
n¶m©¶r CÎmao …

A ~ H$ S>
1) 1 2 3 4

2) 3 4 2 1

3) 4 1 2 3

4) 2 1 3 4

1) Match the following :

Millet Botanical Name

a) Finger millet 1) Panicum sumatrense

b) Little millet 2) Setaria italica

c) Foxtail millet 3) Panicum miliaceum

d) Proso millet 4) Eleusine coracana

Answer options :

(a) (b) (c) (d)

1) 1 2 3 4

2) 3 4 2 1

3) 4 1 2 3

4) 2 1 3 4

6) Vob{~¶m§À¶m OmVr

1) Imcrcn¡H$s H$moUVr EH$ OmoS>r ~amo~a Zmhr ?
1) ŵB©_yJ - Q>rEOr-24 2) C{S>X - Q>rE ỳ-1 3) H$aS>B© - grEgEM-9 4) Jhÿ - EMS>r-2189

1) Which one of the following pair is not correctly matched ?

1) Groundnut - TAG-24 2) Udad - TAU-1

3) Safflower - CSH-9 4) Wheat - HD-2189

2) Q>rEE_Eg-38 ho gwYm[aV dmU .......... `m {nH$mMo AmhoV.
1) gỳ ©\y$c 2) gmò m~rZ 3) ŵB©_yJ 4) ha^am

2) TAMS - 38 is the improved variety of _______ crop.

1) Sunflower 2) Soyabean 3) Groundnut 4) Gram
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3) AZwdm§{eH$[aË`m gwYm[aV ‘mohar g§H$[aV DMH g§X^m©V - 11;
a) hm`~«rS>À`m ì`mdgm{`H$ bmJdS>rV VUZmeH$ g{hîUwVoMm Xmdm Ho$bm Jobm Amho.
b) ~mZ©go, ~mañQ>ma Am{U ~ma `m VrZ Q´mÝgOoÝg dmnê$Z {dH${gV Ho$bo Amho.
c) OrB© namJU {Z §̀ÌU §̀ÌUm dmnê$Z {dH${gV Ho$bobm hm n{hbm g§H$a Amho.
d) déU OmVrÀ`m VwbZoV gamgar 28% CËnÞmMm ’$m`Xm Xe©{dbm Amho.
darbn¡H$s H$moUVo/`mo½` {dYmZ/AmhoV?
1) a, b, c Am{U d 2) c Am{U d ’$º$ 3) b, c Am{U d ’$º$ 4) b Am{U d ’$º$

3) In context of genetically modified mustard hybrid DMH — 11;

a) herbicide tolerance trait has been claimed in the commercial cultivation of hybrid.

b) is developed by using three transgens i.e.barnase, barstar and bar.

c) is a first hybrid developed using the GE pollination control mechanism.

d) has shown on average, a yield advantage of 28 % over variety varuna.

Which of the above is/are correct statement/s ?

1) a, b, c and d 2) c and d only 3) b, c and d only 4) b and d only

7) ì¶mnmar {nH$m§À¶m OmVr
1) Imbrbn¡H$s H$moUVo ^maVmMo n{hbo Ì¶amoJà{VamoYr nrH$ Amho ?

1) D$g 2) dmQ>mUm 3) Q>mo‘°Q>mo 4) Ádmar
1) Which one of the following is India's first triple disease resistant crop ?

1) Sugarcane 2) Pea 3) Tomato 4) Sorghum

2) ^maVr` gaH$maZo ~rQ>r (Bt) H$m°Q>ZÀ`m ì`mnmar VËËdmda CËnmXZmg nadmZJr {Xcr Vmo {Xdg ..... hmoVm.
1) 25 Am°ŠQ>mo~a, 2000  2) 26 OmZodmar, 2001   3) 26 _mM©, 2002   4) 27 E{àc, 2003

2) The Government of India gave permission for the commercial cultivation of Bt cotton on ........

1) Oct. 25, 2000 2) Jan. 26, 2001 3) Mar. 26, 2002 4) Apr. 27, 2003

3) H$mngm_Ü ò {nE-255 `m dmUmÀ`m Ym½`mMr cm§~r ................ Amho.
1) 20-22 _r._r. 2) 32-34 _r._r. 3) 27-28 _r._r. 4) 36-38 _r._r.

3) The staple length of cotton variety PA-255 is ....... mm.

1) 20-22 mm 2) 32-34 mm 3) 27-28 mm 4) 36-38 mm

4) g§H$[aV (hm`~«rS>) H$mngmMo OZH$ (\$mXa) Imcrcn¡H$s H$moUË`m emókmcm åhUVmV?
1) B. ~r. nQ>oc 2) gr. Q>r. nQ>oc 3) dm`. Ec. ntJ 4) Eg. AmoMmoAm

4) Among the following scientists, who is the Father of Hybrid cotton?

1) E. B. Patel 2) C. T. Patel 3) Y. L. Ping 4) S. Ochoa

5) H$nmgr_Ü ò ~r. Q>r. OrZ Q´>mÝg\$a H$ê$Z V`ma Ho$coë`m ZdrZ dmUmg ........ Ago åhUVmV.
1) g|Ðr` H$nmgr 2) Q´>mÝgOo{ZH$ H$nmgr 3) Ag|Ðr` H$nmgr 4) darcn¡H$s EH$hr Zmhr

5) The cotton developed by transfer of BT gene in plant is called as ........

1) Organic cotton 2) Transgenic cotton 3) Inorganic cotton 4) None of the above
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6) nwT>rb {dYmZm§Mm {dMma H$am :
{dYmZ I … ~°{gbg Ww[aZOoÝgrg ho EH$ ‘m¶H«$mo{~¶b H$sQ>H$ZmeH$ Amho.
{dYmZ II : ~oìh[a¶m ~m{g¶mZ {h ~waer H$sQ>H$ZmeH$ åhUyZ dmnabo OmVo.
n¶m©¶r CÎmao …
1) {dYmZ I ~amo~a Am{U {dYmZ II MyH$ Amho 2) {dYmZ I MyH$ Am{U {dYmZ II ~amo~a Amho
3) XmoÝhr {dYmZo MyH$ AmhoV. 4) XmoÝhr {dYmZo ~amo~a AmhoV.

6) Consider the following statements :

Statement I : Bacillus thuringiensis (Bt) is a microbial Pesticide

Statement II : Beaveria bassiana is a fungus used as a Pesticide

Answer Options :

1) Statement I is correct and Statement II is incorrect

2) Statement I is incorrect and Statement II is correct

3) Both Statements are incorrect

4) Both Statements are correct

7) "~mobJmS>©' ho n{hë¶m ì¶mdgm{¶H$ H$sQ>H$-amoYH$ ........... Mo CXmhaU hmo¶.
1) H$mnyg 2) ‘H$m 3) V§~mIy 4) Q>mo‘°Q>mo

7) ‘Bollgard’ is an example of the first commercial pest resistant variety of ......

1) Cotton 2) Maize 3) Tobacco 4) Tomato

CÎmao - (17) {nHo$ Am{U g§H$[aV OmVr

1) g§H$arH$aU
1-2 2-4 3-2 4-4 5-3 6-3 7-4

2) OZwH$s¶ V§ÌkmZ
1-1 2-4

3) V¥UYmÝ¶mÀ¶m OmVr
1-1 2-1

4) H$S>YmÝ¶mÀ¶m OmVr
1-4 2-2 3-4

5) ^aS>YmÝ¶mÀ¶m OmVr
1-3

6) Vob{~¶m§À¶m OmVr
1-3 2-2 3-3

7) ì¶mnmar {nH$m§À¶m OmVr
1-3 2-3 3-3 4-2 5-2 6-4 7-1
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(18) ’$bmoËnmXZ Am{U ’w$beoVr
1) 'OmJ{VH$ Zmai {XZ' ...... `m {Xder gmOam Ho$cm OmVmo.

1) 2 gßQ>|~a 2) 8 gßQ>|~a 3) 27 gßQ>|~a 4) 28 gßQ>|~a
1) 'World Coconut Day' is celebrated on ......

1) 2nd September 2) 8th September 3) 27th September 4) 28th September

2) AZZgmMo CJ_ñWmZ ...... Xoe Amho.
1) BòmB©c 2) Am°ñQ´>o{c`m 3) ~«mPrc 4) H°$ZS>m

2) Pine-apple is originated from ...... country.

1) Israel 2) Australia 3) Brazil 4) Canada

3) _hmamï´> gwnmar `m \$imMo g§emoYZ H|$Ð.......... òWo Amho.
1) ^mQ> ò, aËZm{Jar 2) d|Jwcm©, qgYwXwJ© 3) lrdY©Z, am`JS> 4) JUoeqIS>, nwUo

3) The research centre for betel nut in Maharashtra is situated at ............

1) Bhatye, Ratnagiri 2)Vengurla, Sindhudurg

3)Shrivardhan, Raigad 4) Ganeshkhind, Pune

4) H$moaS>dmhÿ \$iPmSo> Imcrcn¡H$s H$moUVr AmhoV?
1) {gVm\$i  2) qMM-H$dR> 3) Amdim-~moa 4) darc gd©

4) Which of the following are dryland fruit crops ?

1) Custard apple 2) Tamarind-Wood apple    3) Aonla-Ber 4) All the above

5) Am§ã`m_Ü ò _{„H$m OmVrMr {Z{_©Vr .......... nmgyZ Pmcr.
1) Zrc_ x Xehar 2) Xehar x Zrc_ 3) Aë\$mÝgmo x {Zc_ 4) Aë\$mÝgmo x ~oJZ n„r

5) The parents of hybrid Mallika mango are ........... .

1) Neelam x Dashheri 2) Dashheri x Neelam

3) Alphanso x Neelam 4) Alphanso x Bengan Palli

6) "aËZm' `m Am§ã`mÀ`m OmVr {df`rMr {dYmZo {dMmamV ¿`m d `mo½` CÎma {ZdS>m.
A) Zrc_ x hmnyg `m§Mm g§H$a Amho ~) \$io H$mT>Urg cdH$a òVmV
H$) Xadfu \$io XoVo S>) \$imV gmH$m hmoV Zmhr
n¶m©¶r CÎmao …
1) \$º$ (A) ~amo~a Amho 2) (A) Am{U (~) ~amo~a AmhoV
3) (A), (~) Am{U (H$) ~amo~a Amho 4) gd© ~amo~a AmhoV

6) Consider the statements regarding RATNA variety of mango & select correct answer.

a) It is the cross between Neelam x Alphans b) It is early season mango

c) It is regular bearer d) Its fruits are free from spongy tissue

Answer Options :

1) (a) alone is correct 2) (a) and (b) are correct

3) (a), (b) and (c) are correct 4) all are correct
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7) Wm°_gZ grS>cog `m ÐmjmÀ`m OmVr{df`rMr Imcrc {dYmZo {dMmamV ¿`m d `mo½` CÎma {ZdS>m.
A) hr EH$ _hÎdmMr ì`mnmar VÎdmda cmJdS> Ho$cr OmUmar _hmamï´>mVrc OmV Amho.
~) {hMr \$io {H$g{_g H$aÊ`mg `mo½` AmhoV.
H$) {hMr \$io naXoemV nmR>dVmV.
S>) hr OmV ~waerOÝ` amoJm§Zm à{VH$maH$ Zmhr
n¶m©¶r CÎmao …
1) \$º$ (A) ~amo~a Amho 2) (A) Am{U (~) ~amo~a AmhoV
3) (A), (~) Am{U (H$) ~amo~a AmhoV 4) gd© ~amo~a AmhoV

7) Consider the following statements regarding Thomson seedless grape variety & select correct

answer:

a) It is important commercial variety of Maharashtra

b) It is suitable for raisin making

c) Its fruits are exported

d) It is not tolerant to fungal diseases

Answer Options :

1) (a) alone is correct 2) (a) and (b) are correct

3) (a), (b) and (c) are correct 4) all are correct

8) {~Zm H$moB©À`m (H$mò  Zgcoë`m) Am§ã`mÀ`m OmVrMo Zmd gm§Jm ?
1) amOmnwar 2) ‘mZHy$a 3) qgYy 4) aËZm

8) Name the mango variety which does not have seed/stone.

1) Rajapuri 2) Mankur 3) Sindhu 4) Ratna

9) Imcrcn¡H$s H$moUË`m OmVrMm Am§~m {Z`m©V `mo½` Amho ?
1) Aë\$mZ²gmo (hmnyg) 2) nm`ar 3) VmoVmnwar 4) {Zc_

9) Which of the following varieties of mango is suitable for export ?

1) Alphonso 2) Payari 3) Totapuri 4) Neelam

10) Q>mo_°Q>modarc \$io nmoIaUmè`m AirÀ`m EH$mpË_H$ {Z §̀ÌUmgmR>r ....... `m {nH$mMr gmnim nrH$ åhUyZ cmJdS> H$aVmV.
1) Po§Sy> 2) eod§Vr 3) S>oPr 4) gỳ ©\y$c

10) In Integrated Pest Management ........... is planted as a trap crop for control of tomato fruit borer.

1) Marigold 2) Chrysanthmum 3) Daisy 4) Sunflower

11) S>mit~ \$img ôJm ........... _ycÐì`mÀ`m H$_VaVo_wio nS>VmV.
1) H°$pëeA_ 2) ~moamZ 3) qPH$ 4) cmoh

11) Fruit cracking in pomegranate is due to ......... deficiencey.

1) Calcium 2) Boron 3) Zinc 4) Iron

12) ½c°S>rAmocg `m \w$c{nH$mMr A{^d¥Õr gd©gmYmaUnUo ............. Ûmao H$aVmV.
1) H§$X 2) \w$Q>do 3) {~`m 4) N>mQ>H$c_

12) Gladiolus flower is propagated generall through .......... .

1) Bulb 2) Suckers 3) Seed 4) Cutting
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13) H$m§Úm_Ü ò AÞ H$moUË`m ñdê$nmV gmR>{dco OmVo ?
1) H$~m}XHo$ 2) à{WZo 3) _oX 4) darcn¡H$s H$moUVohr Zmhr.

13) The food in onion is stored in the form of ......

1) carbohydrates 2) protein 3) fats 4) none of the above

14) _hmamï´> gaH$maÀ`m amoOJma h_r `moOZm {ZJ{S>V \$i {dH$mg `moOZm am~{dÊ`mgmR>r CÎmoOZmÀ`m gmò r CncãY
H$aÊ`mMo Ñï>rZo R>iH$ hoVy åhUOo ........
1) A{YH$ CËnmXZ d Am{W©H$ pñWaVm 2) gm¢X ©̀ d¥ÕrMo _mZ{gH$ g_mYmZ
3) g§ajH$ AÞmMm nwadR>m 4) XoeH$m`m©V CËgmhr gh^mJ

14) Incentives provided under Employment Guarantee Scheme for development of fruit crops by

Maharashtra Government mainly aims at .......

1) Increased production with economic stability

2) Psychological satisafaction for aesthetic urge

3) Providing protective food

4) Active participation in national responsibility

15) Imcrcn¡H$s H$moUË`m nÜXVrV nrHo$, \$iPmSo> Am{U d¥jmMr EH${ÌV cmJdS> Ho$cr OmVo?
1) dZHw$aU 2) CÚmZwH$aU 3) H¥${fCÚmZdZ 4) H¥${fdZ

15) In which of the following systems the crops, fruit trees and forest trees are grown together ?

1) Silvi pasture 2) Hortisilvi pasture

3) Agrihortisilvipasture 4) Agrisilvipasture

16) OmñV gmëQ> (jma) ghZ H$aÊ`mMr eº$s \$iPmS>m_Ü ò gdmªV OmñV ...... _Ü ò Amho.
1) {MHy$ 2) noê$ 3) IOya (S>oQ> nm_) 4) ~moa

16) The high degree of salt tolerance is observed in ...... fruit tree.

1) Sapota 2) Guava 3) Date palm 4) Ber

17) _mog§~r_Ü ò \$imMr JiVr Wm§~Ê`mgmR>r ...... g§dY©H$mMr \$dmaUr H$aVmV.
1) EZ.E.E. 20 nr.nr.E_. 2) Am`.~r.E. 20 nr.nr.E_.
3) EZ.E.E. 100 nr.nr.E_. 4) Or.E.3 50 nr.nr.E_.

17) Fruits drops in sweet orange is controlled by ...... growth regulator.

1) NAA 20 ppm 2) IBA 20 ppm 3) NAA 100 ppm 4) GA
3
 50 ppm

18) \$i à{H«$ ò_Ü ò nXmW© {Q>H${dÊ`mgmR>r gmYmaUnUo ............. dmnaVmV.
1) qc~mMm ag 2) hiX 3) gmIa 4) H$Sw>qZ~

18) In fruit processing ........... is used as a preservative.

1) Lemon Juice 2) Turmeric 3) Sugar 4) Neem

19) Ooìhm ‘Y‘mer EH$m ’w$bmZ§Va Xþgè¶m ’w$bmg ôQ> XoVo, Voìhm H$moUVr à{H«$¶m hmoVo?
1) namJrH$aU 2) ’$bZ 3) nwZéËnmXZ 4) darbn¡H$s gd©

19) When honey-bees visit from one flower to another, they carry out the process of

1) Pollination 2) Fertilization 3) Reproduction 4) All of the above
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20) Imbrbn¡H$s H$moUVo dZñnVr g§àoaH$ ’$io {nH${dÊ¶mÀ¶m {H«$¶obm {Z¶§{ÌV H$aVmV?
A) {P¶m{Q>Z ~) Am°³PrÝg H$) {O~a{bH$ Amåb S>) B{WcrZ
n¶m©¶r CÎmao …
1) A, ~ Am{U S> 2) ’$º$ A Am{U ~ 3) ’$º$ ~ Am{U H$ 4) ’$º$ S>

20) Which of the following plant hormones controls fruits ripening?

a) Zeatin b) Auxins c) Gibberellic acid d) Ethylene

Answer Options :

1) a, b and d 2) Only a and b 3) Only b and c 4) Only d

21) Imbrbn¡H$s H$moUË¶m H$maUmgmR>r ~°JtJ/{neì¶m§Mm dmna H$aVmV?
1) ñdV…M namJqgMZ Q>miÊ¶mgm 2) XmoKm§‘Yrb namJqgMZ Q>miÊ¶mgmR>r
3) BpÀN>V namJqgMZ gmÜ¶ H$aÊ¶mgmR>r 4) ~mhoarb namJH$U Q>miÊ¶mgmR>rm°

21) Baggings is done to ........

1) Avoid self-pollination 2) Avoid cross pollination

3) Achieve desired pollination 4) Prevent contamination from foreign pollen

22) nm°brhmD$g‘Ü ò, {Xdgm Cƒ àH$memÀ`m Vrd«VoV Am{U 14°C  Vo 15°C gopëgAg Vmn‘mZ loUr‘Ü ò,  H$m~©Z S>m`
Am°ŠgmB©S> Mo à‘mU......... nrnrE‘‘Ü ò amIë`mg gdm}Îm‘ H$mZ}eZ ’w$bo V`ma Ho$br OmD$ eH$VmV.
1) 300 2) 500 3) 700 4) 900

22) Best carnation flowers can be produced when carbon dioxide concentration in polyhouse is

maintained at ................. ppm during day time under high light intensity and temperature range of

14°C to 15°C.

1) 300 2) 500 3) 700 4) 900

23) ìh°Š ỳ‘‘Yrb {ZO©brH$aUm‘wio ’$im§‘Yrb Amobmdm ...... n ª̀V H$‘r hmoVmo.
1) 1-3% 2) 3-5% 3) 5-7% 4) 7-9%

23) Dehydration in vacuum can bring down the moisture content of fruits to .......

1) 1-3% 2) 3-5% 3) 5-7% 4) 7-9%

24) Ho$irVrb ‘mXr Q>ßnm nyU© Pmë`mZ§Va Za H$ir H$mT>Uo `mbm ............ åhUVmV.
1) qnqMJ 2) S>oZoìhqbJ 3) ‘°Q>m°qH$J 4) {S>gH$[a¨J

24) Removal of male bud after completion of female phase in banana is called ............

1) Pinching 2) Denavelling 3) Mattocking 4) Desuckering

25) H±$S>r ¹$sZ hr A±Ww[a`‘Mr............ a§JrV OmV Amho.
1) bmb 2) Jwbm~r 3) nm§T>am 4) Ho$ear

25) Candy queen is the ............ coloured variety of anthurium.

1) Red 2) Pink 3) White 4) Orange

26) H$moH$U h[aVnUu hr ...... Mr g§H$[aV OmVAmho
1) Aiy 2) H$mobmoHo${e`m 3) ~mU ‘yi 4) H$gmdm
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26) Konkan Haritparni is the variety of

1) Tannia 2) Colocasia 3) Arrow root 4) Cassava

27) Imbrbn¡H$s H$moUVo ~m°Zo H°$ìh|{S>e Am{U amo~ñQ>m Ho$irMo {OZmo{‘H$ g§{dYmZ Amho?
1) AAB 2) ABB 3) AAA 4) AAAA

27) Which of the following is the genomic constitution of Dwarf Cavendish and Robusta Banana ?

1) AAB 2) ABB 3) AAA 4) AAAA

28) "A§{~H$m' hm Am§ã`mMm g§H$a Amho
1) Am‘«nmbr x OZmX©Z nmg§X 2) Am‘«nmbr x Aë’$mÝgmo
3) Am‘«nmbr x dZamO 4) {Zc‘ x Xehar

28) ‘Ambika’ a mango hybrid is a cross between

1) Amrapali x Janardhan Pasand 2) Amrapali x Alphanso

3) Amrapali x Vanraj 4) Neelum x Dashehari

29) pñH$q’$J hm N>mQ>UrMm gdm©V hbH$m àH$ma Amho
1) Mhm 2) H$m°’$s 3) dobMr 4) Xmb{MZr

29) Skiffing is the lightest form of prunning in

1) Tea 2) Coffee 3) Cardamom 4) Cinnamon

30) H±$S>r ¹$sZ hr A±Ww[a`‘Mr............ a§JrV OmV Amho.
1) bmb 2) Jwbm~r 3) nm§T>am 4) Ho$ear

30) Candy queen is the ............ coloured variety of anthurium.

1) Red 2) Pink 3) White 4) Orange

31) Imbrbn¡H$s {nH$mMr H$moUVr OmV hr ~m`mo’$mo{Q©>’$mBS> S>mqi~/hm`~«rS> OmV Amho?
1) ‘¥Xwbm 2) gmobmnya bmb 3) ^Jdm 4) JUoe

31) Which of the following is a biofortified pomegranate variety/hybrid ?

1) Mridula 2) Solapur Lal 3) Bhagwa 4) Ganesh

32) H$moH$U h[aVnUu hr .......... {nH$mMr g§H$[aV OmV Amho.
1) Q>°{Z`m 2) H$mobmoHo${e`m 3) ~mU ‘yi 4) H$gmdm

32) Konkan Haritparni is the variety of

1) Tannia 2) Colocasia 3) Arrow root 4) Cassava

33) "A§{~H$m' hr g§H$[aV OmV .......... ¶m Am§ã`mMm g§H$a Amho.
1) Am‘«nmbr x OZmX©Z nmg§X 2) Am‘«nmbr x Aë’$mÝgmo
3) Am‘«nmbr x dZamO 4) {Zc‘ x Xehar

33) ‘Ambika’ a mango hybrid is a cross between .......

1) Amrapali x Janardhan Pasand 2) Amrapali x Alphanso

3) Amrapali x Vanraj 4) Neelum x Dashehari
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CÎmao - (18) ’$bmoËnmXZ Am{U ’w$beoVr

1-1 2-3 3-3 4-4 5-1 6-4 7-4 8-3 9-1 10-1
11-2 12-1 13-1 14-1 15-3 16-* 17-1 18-3 19-1 20-4
21-3 22-2 23-1 24-2 25-2 26-1 27-3 28-1 29-1 30-2
31-2 32-1 33-1
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(19) dZemó, dZì¶dñWmnZ
1) O§Jbmda amÁ`mMr ‘ºo$Xmar àñWm{nV H$aÊ`mMm n{hbm à`ËZ ^maVr` dZ H$m`ÚmÛmao H$aÊ`mV Ambm.

1) 1857 2) 1865 3) 1878 4) 1827
1) The first attempt for asserting state monopoly right over forest was made through an Indian Forest

Act of.

1) 1857 2) 1865 3) 1878 4) 1827

2) JFMC/EDC Mo {H$Vr nX{gÕ gXñ` AmhoV?
1) 1 2) 2 3) 3 4) 4

2) How many ex-officio members do the JFMC/EDC have ?

1) 1 2) 2 3) 3 4) 4

3) _hmamï´>mV gm_m{OH$ dZrH$aU ...... gmcr gwê$ Pmco.
1) 1981 2) 1982 3) 1983 4) 1984

3) In Maharashtra, Social Forestry was started in the year ......

1) 1981 2) 1982 3) 1983 4) 1984

4) OmJ{VH$ dZ{XZ ...... {Xder gmOam H$aVmV.
1) 1 Owc¡ 2) 21 _mM© 3) 5 Owc¡ 4) 23 _mM©

4) The World Forest day is celebrated on ......

1) 1st July 2) 21st March 3) 5th June 4) 23rd March

5) gZ 2003-04 _Ü ò _hmamï´>mV EHy$U ^m¡Jmo{cH$ joÌmÀ`m ...... Q> o̧$ joÌ dZmImcr hmoVo.
1) 33.20 2) 25.34 3) 15.19 4) 20.13

5) During 2003-04, considering the total geographical area of Maharashtra State, ......% area was

under forest.

1) 33.20 2) 25.34 3) 15.19 4) 20.13

6) ^maVm_Ü ò EHy$U joÌ\$imÀ`m ......% joÌ O§Jc Amho?
1) 11 2) 22 3) 33 4) 35

6) In India forest account ......% of total land surface.

1) 11 2) 22 3) 33 4) 35

7) _hmamï´>mVrc dZmImcrc joÌ amÁ`mÀ`m ^m¡Jmo{cH$ joÌmÀ`m ......% Amho.
1) 50 2) 75 3) 40 4) 15

7) Forest area in Maharashtra is .............. % of its geographical area.

1) 50 2) 75 3) 40 4) 15

8) _hmamï´> amÁ` dZ Ahdmc 2003 Zwgma amÁ`mVrc EHy$U dZjoÌ  XoemÀ`m EHy$U dZjoÌmÀ`m ...... Q> o̧$ Amho.
1) 15 2) 16 3) 17 4) 08
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8) As per Maharastra State Forest Report 2003, the total forest area of the State is ......% of the

country's total forest area.

1) 15 2) 16 3) 17 4) 08

9) _hmamï´>mVrc dZmImcrc O{_ZrMo joÌ EHy$U ŷjoÌmer VwcZm H$aVm {H$Vr Q> o̧$ à_mU Amho ?
1) 20.13% 2) 21.40% 3) 22.20% 4) 23.66%

9) What is the percentage of land under forest with total land in Maharashtra ?

1) 20.13% 2) 21.40% 3) 22.20% 4) 23.66%

10) ñdmV§Í`nyd©H$mir dZmImcrc joÌ {H$Vr hmoVo ?
1) 70.00 Xecj hoŠQ>a 2) 75.06 Xecj hoŠQ>a
3) 76.08 Xcej hoŠQ>a 4) 77.08 Xecj hoŠQ>a

10) Total recorded area of forest during independence in the country was .......

1) 70.00 million hectares 2) 75.06 million hectares

3) 76.08 million hectares 4) 77.08 million hectares

11) _hmamï´>mV gZ 2004-05 _Ü ò gm_m{OH$ dZrH$aU ImË`mZo ...... hOma hoŠQ>a joÌmda cmJdS> Ho$cr.
1) 4.85 2) 3.50 3) 2.00 4) 2.65

11) In Maharashtra during 2004-05, Social Forestry Department carried out plantation on ...... thousand

hectares.

1) 4.85 2) 3.50 3) 2.00 4) 2.65

12) gw~m ŷiMo OÝ_ñWmZ ............. Xoe Amho.
1) X{jU _opŠgH$mo 2) CÎma ^maV 3) X{jU H$mo[a`m 4) X{jU ^maV

12) 'Subabul' is originated from ........... country.

1) South Mexico 2) North India 3) South Korea 4) South India

13) _hmamï´>mV dZmImcrc joÌ ........ {OëømV gdm©{YH$ Amho.
1) gmVmam 2) am`JS> 3) R>mUo 4) JS>{Mamocr

13) In Maharashtra ............. district has the maximum area under forest.

1) Satara 2) Raigad 3) Thane 4) Gadchiroli

14) nwT>rcn¡H$s H$moUVm gm_m{OH$ dZrH$aUmMm KQ>H$ Zmhr ?
1) \$m_© \$m°aoñQ´>r 2) {_l dZrH$aU 3) dZeoVr 4) eoëQ>a ~oëQ²>g

14) Which of the following is not a component of Social Forestry ?

1) Farm Forestry 2) Mixed Forestry 3) Agro Forestry 4) Shelter Belts

15) eharH$aU, Am¡Úmo{JH$sH$aU Am{U eoVrÀ`m dmT>r_wio Imcrcn¡H$r H$moUmÀ`m Z¡g{J©H$ _ycñWmZmÀ`m Zmemg n[aUm_
hmoVmo?
1) njr 2) dÝ` OrdZ 3) _Ëñ` OrdZ 4) ganQ>Umao àmUr

15) Growth of Urbanization, Industrialization and agriculture results in destruction of natural habitat

of which of the following ?

1) Birds 2) Wild life 3) Fish life 4) Reptiles
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16) A°J«mo {gëìhr nmíMa {gñQ>r_ åhUOo ?
1) `mV d¥jm~amo~a YmÝ`-{nH$m§Mm d JdVo `m§Mm g_mdoe hmoVmo.
2) `mV d¥jm~amo~a JdVmMm g_mdoe hmoVmo
3) `mV \$iPmS>m~amo~a JdVmMm g_mdoe hmoVmo
4) darcn¡H$s H$mhrhr ~amo~a Zmhr

16) Agro-silvi pastural system means

1) Along with forest trees + cereals + grasses are covered

2) Along with forest trees + grasses are covered

3) Along with Horticultural trees + grasses are covered

4) None of the above is correct

17) ...... {d^mJm_m\©$V _moH$ir OmJm, gmd©O{ZH$ Am{U ImOJr OmJoV cmoH$m§À`m gh^mJmVyZ PmS>o cmdÊ`mMm H$m ©̀H«$_
KoÊ`mV òVmo.
1) gm_m{OH$ dZrH$aU    2) eoVr 3) dZrH$aU 4) qgMZ

17) ...... department has enforced the programme of tree plantation in open area, public and private

places with the co-operation of the people.

1) Social forestry 2) Agriculture 3) Forestry 4) Irrigation

18) H¥$fr dZrH$aU àUmbr {OWo KQ>H$ OrdZmMm H$mhr ^mJ EH$Ì amhVmV.
1) `moJm`moJ 2) ghdVu 3) ‘YyZ‘YyZ 4) àjo{nV

18) Agroforestry system where component stay together for some part of life.

1) Coincident 2) Concomitant 3) Intermittent 4) Interpolated

19) Imbrb {dYmZ {dMmamV ¿`m:
A) H¥$fr dZrH$aU àUmbr ho H¥$fr dZrH$aU bmJdS> nÕVrMo {d{eï> ñWm{ZH$ CXmhaU Amho
~) H¥$fr dZrH$aU bmJdS> nÕV hr H¥$fr dZrH$aU àUmbrMo {d{eï> ñWm{ZH$ CXmhaU Amho
`m g§X^m©V, Imbrbn¡H$s H$moUVm n`m©̀  `mo½` Amho?
1) XmoÝhr gË` 2) ’$º$ (A) gË` 3) ’$º$ (~) gË` 4) gË` Zmhr

19) Consider following statement :

a) Agroforestry system is a specific local example of an Agroforestry practice

b) Agroforestry practice is a specific local.example of an Agroforestry system

In this context, which of the following option is correct ?

1) Both true 2) Only (a) true 3) Only (b) true 4) None true

20) PmS>m§Mo H¥$fr {nH$m§da hmoUmao Imbrbn¡H$s H$moUVo n[aUm‘ H¥$fr dZrH$aUmV ‘hÎdmMo AmhoV?
A) ñnYm© ~) gyú‘ hdm‘mZ ~Xb H$) nmofH$ gm`H$qbJ
n¶m©¶r CÎmao …
1) ’$º$ (~) 2) ’$º$ (A) Am{U (~) 3) ’$º$ (A) Am{U (H$) 4) darb gd©

20) Which of the following effects of trees on agricultural crops are important in agroforestry ?

a) Competition b) Microclimate modification c) Nutrient cycling

Answer Options :

1) Only (b) 2) Only (a) and (b) 3) Only (a) and (c) 4) All the above
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21) g§̀ wº$ dZ ì`dñWmnZ ...... CnH«$‘m§Zm à^mdrnUo àmoËgmhZ XoD$ eH$Vo.
1) NTEP g§H$bZ 2) Am¡fYr dZñnVtMo g§dY©Z
3) E{b`Z àOmVtMo {Z‘y©bZ 4) darb gd©

21) The joint forest management can effectively promote ...... activities.

1) NTEP collection 2) Conservation of medicinal plants

3) Eradication of Alien species 4) All the above

22) ^maVr` dZ A{Y{Z`‘, 1927 ‘Ü ò 2017 ‘Ü ò H$b‘ 2 À`m I§S> (7) ‘YyZ '~m§~y' hm eãX dJiÊ`mgmR>r gwYmaUm
H$aÊ`mV Ambr. `m XwéñVr‘wio ...... Mr ì`m»`m ~Xbbr.
1) bmHy$S> 2) PmS> 3) PwSy>n 4) nm‘

22) Indian Forest Act, 1927 was amended in 2017 to omit the word ‘bamboo’ from clause(7) of

section 2. This amendment changed the definition of ......

1) Timber 2) Tree 3) Shrub 4) Palm

23) {‘`mdmH$s O§Jb Iyn OdiÀ`m A§Vamda dZñnVtÀ`m AZoH$ àOmVr bmdyZ dmT>dbo OmVo. ho O§Jb doJmZo V`ma hmoÊ`mg
‘XV H$aUmam à‘wI g§dmX åhUOo ......
1) nañnaghH$m¶© 2) naOrdrdmX 3) ghOrdZdmX 4) ñnYm©dmX

23) Miyawaki forest is grown by planting several species of plants in very close spacing. The major

interaction that helps form this forest rapidly is ......

1) Mutualism 2) Parasitism 3) Comensalism 4) Competition

24) O§JbmVrb PmS>m§Mr C§Mr dmT> amÌr qH$dm gmdbrV doJmZo hmoVo H$maU :
A) dmT>Umar Aj H$‘r àH$memÀ`m Vrd«Vo‘wio CÎmo{OV hmoVo
~) amÌr qH$dm gmdbrV OmñV nmofU {‘iVo
darbn¡H$s H$moUVo ~amo~a Amho?
1) ’$º$ (A) 2) ’$º$ (~) 3) XmoÝhr (A) Am{U (~) 4) XmoÝhrhr (A) qH$dm (~)
Zmhr

24) Height growth in forest plants takes place rapidly during night or in shade because :

a) growing axis is stimulated by low light intensity

b) more nutrition is available during night or in shade

Which of the above is correct ?

1) Only (a) 2) Only (b) 3) Both (a) and (b) 4) Neither (a) nor (b)

25) gmJmMr cmJdS> H$moUË`m nÕVrZo Ho$cr OmVo ?
1) ~r cmdyZ 2) \$m§Xr cmdyZ 3) ñQ>ån (Iw§Q>m) nÕVrZo 4) H$c_mZo

25) Which method is used for planting teak wood ?

1) By sowing seed 2) By Branch 3) Stamp method 4) Grafting
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CÎmao - (19) dZemó, dZì¶dñWmnZ

1-2 2-4 3-2 4-2 5-4 6-2 7-4 8-4 9-1 10-2
11-2 12-1 13-4 14-3 15-2 16-1 17-1 18-2 19-2 20-4
21-4 22-2 23-4 24-1 25-3
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(20) n¶m©daU
1) BH$m°bm°Or (Ecology) hm eãX Imbrbn¡H$s H$moUË¶m emókmÛmao emoYÊ¶mV Ambm?

1) Mmb©g² H«o$ãg 2) AZ}ñQ> hoZarM h°Ho$b 3) E. Or. Q>°Ýgbr 4) pìhŠQ>a eo’$S>©
1) Who among the following Scientists coined the term "Ecology"?

1) Charles Kerbs 2) Ernst Heinrich Haeckel

3) A. G. Tansley 4) Victor Shelford

2) n[ag§ñWm hr {ZgJm©Mm ñd¶§ {Z¶m‘H$ d ñd¶§ emœV g§aMZmË‘H$ d H$m¶m©Ë‘H$ g§M Amho. OoWo O¡{dH$ d AO¡{dH$ KQ>H$
EH$‘oH$m§‘Ü¶o Jw§Vbobo AgVmV Á¶m‘Ü¶o Imbrb {H«$¶m KS>VmV …
a) CËnmXH$Vm b) Hw$OUo c) nmofU MH«$ d) COm© àdmh
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a AmhoV ?
1) ’$º$ (a) 2) ’$º$ (a) Am{U (b)

3) (a), (b), (c) Am{U (d) 4) (a), (b) Am{U (d)

2) Ecosystem is a self-regulatory and self-sustained structural and functional unit of ay nature where

biotic and abiotic components are linked together with the following processes :

a) Productivity b) Decomposition

c) Nutrient cycling d) Energy flow

Which of the statements given above is/are correct?

1) Only (a) 2) Only (a) and (b) 3) (a), (b), (c) and (d) 4) (a), (b) and (d)

3) gd© n¶m©¶ Aä¶mgyZ gdm©V Odinmg gmaIr {dMmaà{H«$¶m dmnaUmar OmoS>r {ZdS>m.
A) {d{dY àmÊ¶m§Xaå¶mZÀ¶m g§nH$mªMr g§emoYH$m§Zr nmhUr Ho$br Amho Am{U {‘aH°$Q> Cn¶moJmV AmUV Agboë¶m Bemao

Am{U gmX ¶m§À¶m ‘m{bH$m ¶m ñdmJVmgmR>r Am{U gmdY H$aÊ¶mgmR>r Aem XmoZ JQ>m§V ‘moS>VmV Ago Ë¶m§Zm AmT>ibo.
hm {‘aH°$Q> KmbrV Agbobm gmX ñdmJVmgmR>r Zmhr ¶mMr Amnë¶mbm ImÌr Agë¶m‘wio Vmo gmdY{JarMm Bemam
XoÊ¶mÀ¶m à¶ËZmV Amho ho AmnU ‘mÝ¶ H$am¶bmM hdo.

~) eoVH$è¶m§Zm Ë¶m§À¶m O{‘ZrgmR>r g|Ðr¶ qH$dm Ag|{Ð` IVo ¶mVyZ {ZdS> H$aUo Amdí¶H$ Amho. g|Ðr¶ IVo H$‘r {nHo$
CËnmXZ XoÊ¶mMr e³¶Vm AgVo Am{U H$mhr H$mi Ag|{Ð` nÕVtMm dmna Ho$ë¶m‘wio eoVH$è¶m§Zm g|Ðr¶ nÕVtMm
dmna H$aÊ¶mgmR>r ñdV…V ~Xb H$aUo ‘wíH$sb hmoVo. ¶mgmR>r eoVH$è¶m§Zr XÿaJm‘r n[aUm‘mMm {dMma H$ê$Z ñdV…gmR>r
{ZU©¶ KoVbm nm{hOo.

H$) EH$Va VéU Xadfu hþema hmoV OmV AgVrb qH$dm {dÚmÏ¶mªZr CÎmrU© ìhmdo åhUyZ narjm gmoß¶m hmoV OmV AgVrb.
AmYrÀ¶m VwbZoV AmÎmmÀ`m VéU ì¶º$s A{YH$ ~w{Õ‘mZ Agë¶mMm ZJÊ¶ nwamdm ~w{Õ‘mnZ MmMÊ¶mVyZ Am{U AÝ¶
J¥hrV ‘mZH$m§‘m’©$V {‘iV Agë¶m‘wio nydunojm AmÎmmMr narjm àUmbr {dÚmÏ¶mªgmR>r gmonr R>aVo AgoM AZw‘mZ
AmnU H$mT>bo nm{hOo.

S>) ‘moH$im Omi dmnaÊ¶mnojm bmHy$S> OmiUmè¶m ~§{XñV Mwbr hm Vw‘M§ AÞ {eOdÊ¶mMm CÎm‘ ‘mJ© Amho. bmHy$S>
OmiUmè¶m ~§{XñV Mwbr IynM H$m¶©j‘ AgVmV Va ¶mCbQ> ‘moH$im OmimÀ¶m Mwbr hdm Ja‘ H$aÊ¶mV CîUVm
J‘mdVmV. ¶m‘wio OmñV bmoH$m§Zr bmHy$S> OmiUmè¶m ~§{XñV MwbtMm dmna H$am¶bm hdm.

n¶m©¶r CÎmao …
1) A Am{U ~ 2) ~ Am{U H$ 3) A Am{U H$ 4) ~ Am{U S>
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3) By studying all following options, select a pair that uses most closely similar reasoning.

a) Researchers have looked at the communication between different animals and found that

meerkats have a series of alerts and calls that fall into two categories, greetings and alarms.

Since we can be sure that this meerkat is not calling as greeting, we must accept that he is

attempting to raise the alarm.

b) Famers must choose between using organie or ngn-organic fertilisers on their land. Organic

fertilisers can produce a lower crop yield and farmers may find it difficult to change to organic

methods if they have been using non-organic methods for some time. Farmers should; therefore,

consider the longei-term impacts of their decisions.

c) Either young persons are getting cleverer each year or examinations are becoming easier for

students to pass. Since there is vey little evidence from IQ testing and other supposed

benchmarks that young persons are more intelligent now than in the past, we must conclude

that the examination system is easier for students today than it was in the past.

d) Closed wood burning chulhas are a better way to cook yorr food than open fire chulhas. Closed

wood burning chulhas are highly efficient, whereas tie open fire of open fire chulhas loses a

great deal of heat in the air. More people should, therefore, use closed wood burning chulhas

in their homes.

Answer Options :

1) a and b 2) b and c 3) a and c 4) b and d

4) ''Am§Vaamï´>r` AmoPmoZ (ozone) {Xdg'' åhUyZ H$moUVm {Xdg nmiÊ`mV òVmo?
1) 16 Am°JñQ> 2) 16 gßQ>|~a 3) 16 Zmoìh|~a 4) 16 {S>g|~a

4) Which day is observed as International Ozone day?

1) 16th of August 2) 16th of September 3) 16th of November 4) 16th of December

5) ""OmJ{VH$ AmoPmoZ {Xdg'' `m {Xder gmOam Ho$cm OmVmo.
1) 16 _mM© 2) 16 gßQ>|~a 3) 16 {S>g|~a 4) 16 OyZ

5) "World Ozone Day" is celebrated on :

1) 16th March 2) 16th September 3) 16th December 4) 16th June

6) BH$m°bm°Or (Ecology) hm eãX Imbrbn¡H$s H$moUË¶m emókmÛmao emoYÊ¶mV Ambm?
1) Mmb©g² H«o$ãg 2) AZ}ñQ> hoZarM h°Ho$b 3) E. Or. Q>°Ýgbr 4) pìhŠQ>a eo’$S>©

6) Who among the following Scientists coined the term "Ecology"?

1) Charles Kerbs 2) Ernst Heinrich Haeckel

3) A. G. Tansley 4) Victor Shelford

7) OJmV gdmªV OmñV H$m~©Z CËgO©Z H$aUmar n{hë`m d Xþgè`m H«$_m§H$mMr amï´> OmoS>r -
1) MrZ d ^maV 2) MrZ d A_o[aH$m ( ỳ.Eg.E.)
3) \«$mÝg d ẁZm`Q>oS> qH$½S>‘ 4) OnmZ d MrZ

7) Name the pair of countries which are the first and second most polluters regarding carbon

emission.

1) China and India 2) China and U.S.A. 3) France and U.K. 4) Japan and China



For Private Circulation OnlyFor Private Circulation Only

‘hmamï´> amOn{ÌV ZmJar godm nyd©narjm gm‘J«r … gm‘mÝ` {dkmZ/ 108

For Private Circulation Only

8) n[ag§ñWm hr {ZgJm©Mm ñd¶§ {Z¶m‘H$ d ñd¶§ emœV g§aMZmË‘H$ d H$m¶m©Ë‘H$ g§M Amho. OoWo O¡{dH$ d AO¡{dH$ KQ>H$
EH$‘oH$m§‘Ü¶o Jw§Vbobo AgVmV Á¶m‘Ü¶o Imbrb {H«$¶m KS>VmV …
a) CËnmXH$Vm b) Hw$OUo c) nmofU MH«$ d) COm© àdmh
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a AmhoV ?
1) ’$º$ (a) 2) ’$º$ (a) Am{U (b)

3) (a), (b), (c) Am{U (d) 4) (a), (b) Am{U (d)

8) Ecosystem is a self-regulatory and self-sustained structural and functional unit of ay nature where

biotic and abiotic components are linked together with the following processes :

a) Productivity b) Decomposition c) Nutrient cycling d) Energy flow

Which of the statements given above is/are correct?

1) Only (a) 2) Only (a) and (b) 3) (a), (b), (c) and (d) 4) (a), (b) and (d)

9) n¥ÏdrÀ`m dmVmdaUmVrc H$moUË`m ñWamda hdm_mZmVrc ~hþVm§er KS>m_moS>r KS>VmV?
1) EŠPmopñ\$`a 2) ñQ´>°Q>mopñ\$`a 3) AmBZmopñ\$`a 4) Q´>monmopñ\$`a

9) In which layer of the atmosphere of earth do most weather phenomena occur?

1) Exospher 2) Stratosphere 3) Ionosphere 4) Troposphere

10) n¥ÏdrÀ¶m dmVmdaUmÀ¶m ...... ^mJmV dmVmdaUmVrb EHy$U hdoÀ¶m gw‘mao 70% ^mJ AgVmo.
1) ñQ´>oQ>mopñ’$¶a 2) ‘ogmopñ’$¶a 3) Wa‘mopñ’$¶a 4) Q´>monmopñ’$¶a

10) The part of the Earth’s atmosphere contains about 70% of the total air in the atmosphere.

1) Stratosphere 2) Mesosphere 3) Thermosphere 4) Troposphere

11) Imcrc ñnï>rH$aU dmMyZ `mo½` CÎma {ZdS>m …
{dYmZ (A) … dmVmdaUmMr OmS>r hr ŷ_Ü`d¥Îmmda gJù`mV OmñV Amho.
H$maU (R) … ŷ_Ü`d¥Îmmda gỳ m©nmgyZ {_iUmar CîUVm d CîUVoMo àH«$_U (H$ÝhoŠeZ) OmñV Amho.
n¶m©¶r CÎmao …
1) (A) Am{U (R) ho Iao Amho Am{U (R) ho (A) Mo `mo½` CÎma Amho.
2) (A) Am{U (R) ho XmoÝhr Iao AmhoV na§Vw (R) ho (A) Mo `mo½` ñnï>rH$aU Zmhr.
3) (A) Iao Amho nU (R) MyH$ Amho.
4) (R) Iao Amho nU (A) MyH$ Amho.

11) Consider the following statements and write the correct answer :

Assertion (A) : The thickness of the atmosphere is maximum over the equator.

Reason (R) : High insolation and strong convection currents occur over the equator.

Answer Options :

1) (A) and (R) are true and (R) is the correct explanation of (A)

2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

3) (A) is true but (R) is false

4) (R) is true but (A) is false
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12) n¶m©daUmer g§~§{YV {ZåZ{b{IV ¶mo½¶ OmoS>çm bmdm.
a) ~m¶mopñ’$Aa i) ‘hmgmJa, g‘wÐ, ZÚm, Vio B.
b) {bWmopñ’$Aa ii) dZñnVr, àmUr, gyú‘Ord B.
c) hm¶S´>mopñ’$Aa iii) n¥ÏdrÀ¶m g^modVmbMo, dm¶y AmdaU
d) A°Q>‘m°pñ’$Aa iv) n¥ÏdrMm KZ (IS>H$m§Mm) KQ>H$
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iii) (ii) (i) (iv)

2) (iv) (iii) (ii) (i)

3) (ii) (iv) (i) (iii)

4) (iii) (ii) (iv) (i)

12) In relation to Environment match the following.

a) Biosphere i) Oceans, Seas, River, Lakes etc.

b) Lithosphere ii) Plants, Animals, Microbes etc.

c) Hydrosphere iii) Thick gaseous cover surrounding the Earth

d) Atmosphere iv) Solid Component of Earth

Answer Options :

(a) (b) (c) (d)

1) (iii) (ii) (i) (iv)

2) (iv) (iii) (ii) (i)

3) (ii) (iv) (i) (iii)

4) (iii) (ii) (iv) (i)

13) nmUmÀ`m O_rZ, g_wÐ Am{U dmVmdaU gVV {\$aÊ`mÀ`m {H«$ òg ........ åhUVmV.
1) OcMH«$ 2) ŷJ ©̂ OcMH«$ 3) CîUVmJ{V MH«$ 4) n`m©daU MH«$

13) The moisture is constantly circulated between the land, the ocean and the atmosphere, which is

known as ......

1) Hydrologic cycle 2) Geohydrologic cycle 3) Thermodynamic cycle 4) Ecological cycle

14) ¶mo½¶ n¶m©¶ AmoiIyZ OmoS>çm bmdm.
a) g§nwï>mV Z ¶oUmar g§gmYZo i) ‘mZd{Z{‘©V H¥$Ë¶o
b) ñQ>°Q>moñ’$s¶a ii) Ordmí‘ B§YZ Ogo H$moigm, noQ´>mob
c) AnwZamdVu/nwZZ©wVZrH$aUmg A¶mo½¶ iii) gm¡a D$Om©

g§gmYZo qH$dm AZwVZmdVu g§gmYZo
d) ³bmoamoâbwamoH$m~©Ýg iv) AmoPmoZMm XmQ> Wa
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iv) (ii) (iii) (i)

3) (iii) (iv) (ii) (i)

4) (ii) (iii) (iv) (i)
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14) Match the following with correct options.

a) Inexhaustible resources i) Anthropogenic activities

b) Stratosphere ii) Fossil fuels like coal and petrol

c) None-renewable resources iii) Solar Energy

d) Chlorofluorocarbons iv) Rich layer of Ozone

Answer Options :

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iv) (ii) (iii) (i)

3) (iii) (iv) (ii) (i)

4) (ii) (iii) (iv) (i)

15) Am§Vaamï´>r` hdm_mZ V§Ìm§Mm Agm A§XmO Amho H$s dmVmdaUmVrc Vmn_mZmMr dmT> _w»`V… dmVmdaUmVrc ........ _wio
hmoVo.
1) H$m~©Z S>m`Am°ŠgmB©S> 2) Zm`Q´>moOZ Am°ŠgmB©S>        3) Am°pŠgOZ 4) hm`S´>moOZ

15) International panel for climatic changes predicts that rise in atmospheric temperature is mainly

due to ......... in atmosphere.

1) Carbon dioxide 2) Nitrogen oxide 3) Oxygen 4) Hydrogen

16) dmVmdaUm§Vrc Vmn_mZmMr dmT> _w»`V… dmVmdaUmVrc ....... _wio hmoVo.
1) H$m~©Z S>m`Am°ŠgmB©S> 2) Zm`Q´>moOZ Am°ŠgmB©S>  3) àmUdm ỳ 4) hm`S´>moOZ

16) Rise in atmospheric temperature is mainly due to ........ in atmosphere.

1) Carbon dioxide 2) Nitrogen oxide   3) Oxygen 4) Hydrogen

17) Imcrcn¡H$s H$moUË`m dm ỳ_wio n¥ÏdrMo dmVmdaU C~Xma Amho ?
1) AmoPmoZ 2) àmUdm ỳ 3) H$~m©åc dm ỳ 4) hdm

17) Earth is warm due to the presence of the following.

1) Ozone 2) Oxygen 3) Carbon dioxide 4) Air

18) erVJ¥h Am{U ewÕ hdm nyaH$ §̀ÌUoV Cn`moJmV òUmam H$moUVm agm`Z dmVmdaUmVrc AmoPmoZ WamÀ`m j`mH$[aVm
O~m~Xma Amho ?
1) {\«$Am°Z             2) hm`S´>moâë ỳamoH$m~©Z      3) Šcmoamoâë ỳamoH$m~©Z         4) gë\$a S>m`Am°ŠgmB©S> (SO

2
)

18) Which chemical used in refrigeration and air-conditioning system is responsible for destruction

of ozone layer in the atmosphere ?

1) Freon 2) Hydrofluorocarbon

3) Chlorofluorocarbon 4) Sulphur dioxide (SO
2
)

19) Imcrcn¡H$s H$moUVo H$maU d¡pídH$ Vmn_mZ dmT>rg d hdm_mZ ~Xcmg H$maUr ŷV Zmhr ?
1) gr E\$ gr CËgO©Z 2) H$m~©Z S>m`Am°ŠgmBS> CËgO©Z
3) O§JcVmoS> 4) {_WoZ CËgO©Z

19) Which is not a cause for present global warming and climate change ?

1) CFC emission 2) Carbon dioxide emission

3) Deforestation 4) Methane emission
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20) cJXm Am{U H$mJX V`ma H$aUmè`m H$maImÝ`mVyZ {ZKUmè`m {Z…gaUmV H$m` Amho ?
1) O{_ZrV Hw$OUmao O¡{dH$ nXmW© 2) {dH¥$VrH$maH$ Am{U 'H$magrZmoOo{ZH$' nXmWm©Mo {_lU
3) CSy>Z OmUmao nXmW© 4) _ir

20) What is the Effluent of Pulp and Paper Production Industry contains ?

1) Biodegradable materials in the soil 2) Mutagenic and carcinogenic compounds

3) Volatile substances 4) Slurry

21) n`m©daU Xy{fV H$aÊ`mMo Amnco à_mU ho
1) n¥ÏdrÀ`m Z¡g{J©H$ àXyfU emofU j_Vonojm H$_r Amho.
2) n¥ÏdrÀ`m Z¡g{J©H$ àXyfU emofU j_Vonojm OmñV Amho.
3) n¥ÏdrÀ`m Z¡g{J©H$ àXyfU emofU j_Vo BVHo$ Amho.
4) `m§n¡H$s H$moUVohr Zmhr.

21) We are polluting the environmental at a rate

1) less than the Earth's natural ability to absorb pollution.

2) greater than the Earth's natural ability to a absorb pollution.

3) equal to the Earth's natural ability to absorb pollution

4) None of these

22) Imcrcn¡H$s {Xcoë`m {dYmZmdê$Z H$moUVo AZw_mZ VH©$g§JV Amho ?
{dYmZ …  Oa `mM doJmZo dm ẁàXyfU hmoV am{hco Va _mZdr OrdZmgmR>r cmJUmè`m Am°pŠgOZMo à_mU H$_r hmoB©c.
AZw_mZ …
A) dm ẁàXyfUm_wio hdoVrc Am°pŠgOZMo à_mU H$_r hmoVo.
~) dm ỳ àXyfUm_wio _mZdr earamÀ`m dmT>rda n[aUm_ hmoVmo.
n¶m©¶r CÎmao …
1) \$º$ (A) hm {ZîH$f© VH©$g§JV Amho. 2) \$º$ (~) hm {ZîH$f© VH©$g§JV Amho.
3) XmoÝhr {ZîH$f© VH©$g§JV Amho. 4) XmoÝhr {ZîH$f© VH©$g§JV ZmhrV.

22) From the statements given below which conclusion is logically correct ?

Statement :  If the rate of air-pollution grow continuously at the same rate, then he essential

oxygon proportion will be reduced in quantity.

Conclusion :

A) Due to air-pollution oxygen proportion will be reduced.

B) Due to air-pollution human body development is affected

Answer Options :

1) Only conclusion (A) is logically correct.

2) Only Conclusion (B) is logically correct.

3) Both the conclusions are logically correct.

4) Both the conclusions are logically incorrect.

CÎmao - (20) n¶m©daU

1-2 2-3 3-3 4-2 5-2 6-2 7-2 8-3 9-4 10-4
11-1 12-3 13-1 14-3 15-1 16-1 17-3 18-3 19-3 20-2
21-2 22-3



For Private Circulation OnlyFor Private Circulation Only

‘hmamï´> amOn{ÌV ZmJar godm nyd©narjm gm‘J«r … gm‘mÝ` {dkmZ/ 112

For Private Circulation Only

(21)  H¥$frg§b¾ joÌ   -  H¥$frà{H«$¶m, newnmbZ d Xw½Yì`dgm`,
Hw$ w̧$Q>nmbZ, ‘Ëñ¶ì¶dgm¶

1) newnmbZ d Xw½Yì`dgm`
2) Hw$ w̧$Q>nmbZ
3) ‘Ëñ¶ì¶dgm¶
4)  H¥$frà{H«$¶m

4) H¥$frà{H«$¶m

1) newnmbZ d Xw½Yì`dgm`
1) H¥${Ì‘ aoVZ à{H«$¶oÀ¶mdoir J^m©YmZ JZ (insemination gun) R>odÊ`mgmR>r Imbrbn¡H$s `mo½` H$moZ H$moUVm Amho?

1) 300 2) 600 2) 900 2) 1800

1) Which of the following is the correct angle for holding the insemination gun at the time of AI?

1) 300 2) 600 2) 900 2) 1800

2) [aº$ OmJm ^aÊ`mgmR>r `mo½` n`m©̀  {ZdS>m.
newYZ JUZm 2019 Zwgma, gw‘mao .............. H$moQ>r newYZmgh ‘hmamï´> gmVì`m H«$‘m§H$mda Amho.
1) 5-50 2) 250 3) 3-31 4) 1:25

2) Select the correct option to fill in the blank.

As per Livestock Census 2019, Maharashtra ranks seventh with livestock of about ............. crores.

1) 5-50 2) 250 3) 3-31 4) 1:25

3) ...... Xaå`mZÀ`m Vmn‘mZmV H$mobmoñQ´‘ {Xë`mg Ë`mMr nMZj‘Vm dmT>Vo.
1) 790F Am{U 820F 2) 890F Am{U 920F 3) 990F Am{U 1020F 4) 1090F Am{U 1120F

3) The digestibility of colostrum increases when it is given at temperature between ......

1) 790F and 820F 2) 890F and 920F 3) 990F and 1020F 4) 1090F and 1120F

4) ~¡bm§Mo dr ©̀ Jmoim H$aVmZm H¥${Ì‘ `moZrMo AmVrb Vmn‘mZ ............ À`m Xaå`mZ Agmdo.
1) 42°C to 46°C 2) 47°C to 52°C 3) 38°C to 40°C 4) 25°C to 37°C

4) During semen collection of bulls the inner temperature of Artificial Vagina should be between

..........

1) 42°C to 46°C 2) 47°C to 52°C 3) 38°C to 40°C 4) 25°C to 37°C

5) eoù`m§À`m dOZmZwgma X¡Z§{XZ H$moaS>çm nXmWm©Mr Amdí`H$Vm Imbrbn¡H$s H$moUVr Amho?
1) 10 Vo 15% 2) 8 Vo 10% 3) 20 Vo 25% 4) 3 Vo 5%

5) Which of the following is the daily dry matter requirement as per weight in goats ?

1) 10 to 15% 2) 8 to 10% 3) 20 to 25% 4) 3 to 5%
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6) Imbrb Jmoï>r Owidm:
g§H$[aV OmVr    ‘yi amÁ`
A) I[a`ma i) CÎma àXoe
~) IoarJS> ii) H$Zm©Q>H$
H$) H¥$îUm Imoao iii) Vm{‘iZmSy>
S>) H§$J`‘ iv) Amo{S>em
n¶m©¶r CÎmao :

(A) (~) (H$) (S>)
1) (iv) (ii) (i) (iii)

2) (iv) (i) (ii) (iii)

3) (iii) (iv) (i) (ii)

4) (iv) (ii) (iii) (i)

6) Match the following :

   Breed Origin (state)

a) Khariar i) Uttar Pradesh

b) Kherigarh ii) Karnataka

c) Krishna valley ii) Tamil Nadu

d) Kangayam iv) Odisha

Answer Options :

(a) (b) (c) (d)

1) (iv) (ii) (i) (iii)

2) (iv) (i) (ii) (iii)

3) (iii) (iv) (i) (ii)

4) (iv) (ii) (iii) (i)

7) Imbrb {dYmZo {dMmamV ¿¶m …
a) newJUZm 2019 Zwgma amÁ¶mV gw‘mao 3.31 H$moQ>r newYZ hmoVo.
b) newYZmÀ¶m ~m~VrV amÁ¶mMm XoemV gmVdm H«$‘m§H$ Amho.
darbn¡H$s H$moUVo/H$moUVr {dYmZ/Zo ~amo~a Amho/AmhoV ?
1) (a) Am{U (b) 2) ’$º$ (b)

3) ’$º$ (a) 4) darbn¡H$s Zmhr
7) Consider the following statements :

(a)  According to the Livestock Census 2019, the State has about 3.31 crores of its total  livestock.

(b)  The State ranks seventh in the country in terms of livestock.

Which of the statements given  above is/are correct ?

1)  (a) and (b) 2)  Only (b) 3)  Only (a) 4)  None of the above

8) àOZZ h§Jm‘mÀ`m AJXr AmYr Am{U Xaå`mZ ‘mXr àmÊ`m§Zm Cƒ COm© Amhma XoUo ¶mbm .......... åhUVmV.
1) ñQ>rq‘J An 2) âbqeJ 3) brqMJ 4) J«oqS>J An

8) Offering high energy feeds to female animals just before and during breeding season is termed as

1) Steaming up 2) Flushing 3) Leaching 4) Grading up
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9) TDN hm eãX é{‘Z°Q> àmÊ`m§gmR>r ...... Xe©{dÊ`mgmR>r dmnabm OmVmo.
1) nMZj‘Vm 2) D$Om© ‘yë` 3) AO¡{dH$ nXmW© 4) Iao à{WZo gm‘J«r

9) The term TDN is used to indicate ...... of feed for ruminat animals.

1) Digestibility 2) Energy value 3) Inorganic matter 4) True protein content

10) ñdXoer JmB©-Jwam§À¶m OmVrÀ¶m g§dY©ZmgmR>r {dH${gV H$aÊ¶mV Ambobr B§{S>Jmo {Mn hr ^maVmMr n{hbr ........... ¶mda
AmYmarV {Mn Amho.
1) Ebm¶Pm 2) EH$b Ý¶wp³b¶moQ>mBS> ~hþê$nVm
3) ‘m¶H«$mo g°Q>obmB©Q> d¡{dÜ¶ 4) nm°{c‘m°{’©$H$ nwZamd¥Îmr¶wº$ ‘ybÐì¶

10) IndiGau Chip is India's first ...... based chip which has been developed for conservation of pure

varieties of indigenous cattle breeds.

1) ELISA 2) Single nucleotide polymorphism

3) Micro satellite variation 4) Polymorphic repetitive elements

11) ............. Jm`t‘Ü ò «̂yU hñVm§VaUmgmR>r gwnaAmoìhþboeZgmR>r hm‘m}ZMm dmna Ho$bm OmVmo.
1) ë¶wQ>oZm¶qPJ hm‘m}Z 2) BñQ´>m°OoZ
3) àmoOoñQ>oam°Z 4) ’$m°{bH$b pñQ>å¶wboqQ>J hm‘m}Z

11) ............... hormone is used for superovulation in cows for embryo transfer.

1) Luteinising hormone 2) Oestrogen

3) Progesterone 4) Follicle stimulating hormone

12) ad§W H$aUmè¶m new‘Ü¶o Zm°Z-àmoQ>rZ Zm`Q´moOZ ẁº$ ómoVm§Mm `eñdrnUo dmna Ho$bm OmV Amho .......
A) A‘mo{Z`‘ EgrQ>oQ> ~) A‘mo{Z`‘ ~m`H$m~m}ZoQ> H$) A‘mo{Z`‘ H$m~m}ZoQ> S>) A‘mo{Z`‘ b¡ŠQ>oQ>
n¶m©¶r CÎmao :
1) A Am{U S> ’$º$ 2) A Am{U ~ ’$º$ 3) A Am{U H$ ’$º$ 4) darb gd©

12) Non-protein nitrogenous sources being used successfully for ruminants are -

a) Ammonium acetate b) Ammonium bicarbonate

c) Ammonium carbonate d) Ammonium lactate

Answer options :

1) a and d only 2) a and b only 3) a and c only 4) All of the above

13) {haì`m Mmè`mÀ`m VwbZoV gm`boO‘Ü ò nmofH$ ‘yë`m§Mo H$mhr à‘mUmV ZwH$gmZ hmoVo.
A) gmIaoMo b¡pŠQ>H$ E°{gS>‘Ü ò ê$nm§Va ~) Am§~Q> Md {Z‘m©U H$aUo
H$) n¥ð>^mJ Iam~ hmoUo S>) {H$ÊdZ Am{U JiVr
n¶m©¶r CÎmao :
1) A Am{U ~ 2) ~ Am{U H$ 3) A, ~ Am{U H$ 4) darb gd©

13) As compared to green fodder, there is some loss of nutritive value in silage by .......

a) the conversion of sugars into lactic acid b) producing a sour taste

c) surface spoilage d) fermentation and seepage

Answer options :

1) a and b 2) b and c 3) a, b and c 4) All of the above
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14) ^maVr` newd¡ÚH$s` n[afX  ............. hmVmiVo
A) newd¡ÚH$s` gamdmMo {Z`‘Z. ~) newd¡ÚH$s` ì`mdgm{`H$m§À`m a{OñQ>g©Mr XoI^mb H$aUo.
H$) Ë`mÀ`mer g§~§{YV qH$dm Ë`mÀ`mer g§~§{YV ~m~r. S>) newd¡ÚH$s` Am¡fY.
darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV/AmhoV?
1) A ’$º$ 2) A Am{U ~ ’$º$ 3) A, ~ Am{U H$ ’$º$ 4) ’$º$ S>

14) The Veterinary Council of India deals with

a) the regulation of veterinary practice.

b) maintenance of registers of veterinary practitioners.

c) matters connected therewith or ancillary thereto.

d) Veterinary medicine.

Which of the statements given above is/are correct ?

1) a only 2) a and b only 3) a, b and c only 4) d only

2) Hw$ w̧$Q>nmbZ
1) A§S>r {dH${gV hmoÊ`mgmR>r bmJUmè`m A§XmOo doioer AmopìhS>ŠQ>Mo ^mJ Owidm.

A) BÝ’§${S>~wb‘ i) 21 Vmg
~) ‘°¾‘ ii) 1 Vmg 15 {‘{ZQ>o
H$) BñW‘g iii) 3 Vmg
S>) J^m©e` iv) 15 {‘{ZQ>o
n`m©¶r CÎmao :

A ~ H$ S>
1) (i) (ii) (iii) (iv)

2) (ii) (iii) (iv) (i)

3) (iii) (iv) (i) (ii)

4) (iv) (iii) (ii) (i)

1) Match the parts of oviduct with approximate time taken for developing egg to pass through it.

a) Infundibulum i) 21 hours

b) Magnum ii) 1 hour and 15 minutes

c) Isthmus iii) 3 hours

d) Uterus iv) 15 minutes

Answer Options :

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (ii) (iii) (iv) (i)

3) (iii) (iv) (i) (ii)

4) (iv) (iii) (ii) (i)
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2) Hw$ w̧$Q>m§À`m àOmVr Ë`m§À`m àmUremór` Zmdm§er Owidm.
A) njr i) J°bg S>mo‘opñQ>H$g
~) VwH$r© ii) AZmg ßb°{Q>{gÝH$mog
H$) ~XH$ iii) ‘oboJoar¶m J°bonmodm
S>) Oo. ¹o$b iv) H$moQw>{Z©g H$moQw>{Z©g Omnmo{ZH$m
n`m©¶r CÎmao :

A ~ H$ S>
1) (i) (ii) (iii) (iv)

2) (i) (iii) (ii) (iv)

3) (iii) (ii) (i) (iv)

4) (ii) (iii) (iv) (i)

2) Match the species of poultry with their zoological names.

a) Fowl i) Gallus domesticus

b) Turkey ii) Anas platysynchos

c) Duck iii) Meleagria gallopavo

d) J. Quail iv) Coturnix coturnix japonica

Answer Options :

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (i) (iii) (ii) (iv)

3) (iii) (ii) (i) (iv)

4) (ii) (iii) (iv) (i)

3) H$m|~S>rÀ`m OmVr Ë`m§À`m dJm©er Owidm Am{U `mo½` n`m©̀  {ZdS>m.
{MH$Z OmVr dJ©
A) boJhm°Z© i) B§J«Or dJ©
~) AmoF$qn½Q>Z ii) ŷ‘Ü` dJ©
H$) Ý ỳ h°ånem`a iii) E{e`m{Q>H$ dJ©
S>) ~«åhm iv) A‘o[aH$Z dJ©
n`m©¶r CÎmao :

A ~ H$ S>
1) (i) (ii) (iii) (iv)

2) (ii) (iii) (iv) (i)

3) (iii) (iv) (i) (ii)

4) (ii) (i) (iv) (iii)
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3) Match the breeds of chicken with their classes and select correct option.

Breeds of Chicken          Classes

a) Leghorn i) English class

b) Orpington ii) Mediterranean class

c) New Hampshire iii) Asiatic class

d) Brahma iv) American class

Answer Options :

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (ii) (iii) (iv) (i)

3) (iii) (iv) (i) (ii)

4) (ii) (i) (iv) (iii)

4) H$m|~S>rZo gbJ {Xdg A§Va Z R>odVm {Xboë`m A§S>çm§À`m g§» òbm  ........ åhUVmV
1) nm°P 2) na{gñQ>Ýgr 3) ŠbM 4) darbn¡H$s H$mhrhr Zmhr

4) The number of eggs laid by hen on consecutive days without gap is called as ......

1) Pause 2) Persistency 3) Clutch 4) None of above

3) ‘Ëñ¶ì¶dgm¶
1) Xw½Y‘Ëñ`nmbZmgmR>r ~m§YÊ`mV Ambobm Vbmd ......... åhUyZ AmoiIbm OmVmo.

A) 'ñQ>çy' Vbmd ~) 'JmS>©Z' Vbmd H$) 'aogdo' Vbmd S>) 'Vm§~H$' Vbmd
n¶m©¶r CÎmao :
1) ’$º$ A 2) A Am{U ~ ’$º$ 3) H$ ’$º$ 4) ’$º$ S>

1) Pond constructed for milk fish culture is known as ..........

a) ‘Stew’ pond b) ‘Garden’ pond c) ‘Raceway’ pond d) ‘Tambak’ pond

Answer options :

1) Only a 2) a and b only 3) c only 4) d only

2) Imbrbn¡H$s H$moUVo A±{Q>~m`mo{Q>Šg Am{U BVa ’$m‘m©H$mobm°{OH$b g{H«$` nXmWmªda H$moi§~r ‘Ëñ¶nmbZmV dmnaÊ`mgmR>r
OrAmoE‘Zo ~§Xr KmVbr Amho?
A) Neomycin ~) Šbmoamo’$m°‘© H$) Glycopeptides S>) Dapsene

n¶m©¶r CÎmao …
1) A Am{U ~ ’$º$ 2) S> ’$º$ 3) ~ ’$º$ 4) A, ~, H$ Am{U S>

2) Which of following antibiotics and other pharmacologically active substances is/are banned by

GoM for use in shrimp aquaculture ?

a) Neomycin b) Chloroform c) Glycopeptides d) Dapsene

Answer Options :

1) a and b only 2) d only 3) b only 4) a, b, c and d

4) H¥$frà{H«$¶m
1) H$moaS>çm V¥UYmÝ`m§À`m {‘lUmV Eamo{~H$ ~°ŠQ>o[a`mMr g§»`m .............. Amho.

1) 102 Vo 105 à{V J«°‘ 2) 102 Vo 108 à{V J«°‘ 3) 102 Vo 104 à{V J«°‘ 4) 102 Vo 108 à{V J«°‘
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1) The aerobic plate count of bacteria in dry cereal mixes is .................

1) 102 to 105 per gram 2) 102 to 108 per gram

3) 102 to 104 per gram 4) 102 to 108 per gram

2) nrH$ CËnmXZ, newYZ, eoVr, ‘Ëñ`nmbZ, dZrH$aU BË`mXr gd© n¡by§Mm g‘mdoe Agbobm.......... hm  EH$ A{Ve`
ì`mnH$ eãX Amho.
1) eoVr 2) {gpëìhnmíMa 3) H¥$fremó 4) {gpëìh-~mJm`V

2)  ..........is a very broad term encompassing all aspects of crop production, livestock, farming,

fisheries, forestry etc.

1) Agriculture 2) Silvipasture 3) Agronomy 4) Silvi-horticulture

3) YmÝ`mÀ`m Z‘wÝ`mÀ`m Amobmdm ‘moOÊ`mÀ`m WoQ> nÕVr H$moUË`m AmhoV?
A) {dÚwV à{VamoYH$ ~) S>m`bopŠQ´H$ nÕV H$) EAa-AmoìhZ S´mq`J S>) {S>pñQ>boeZ
n¶m©¶r CÎmao :
1) A Am{U ~ 2) ~ Am{U H$ 3) A Am{U H$ 4) H$ Am{U S>

3) Which are the direct methods of moisture measurement of the grain sample ?

a) Electrical resistance b) Dielectric method

c) Air-oven drying d) Distillation

Answer options :

1) a and b 2) b and c 3) a and c 4) c and d

4) {~`m§Mo AmdaU ’$moS>Uo, IaMQ>Uo, `m§{ÌH$[aË`m ~XbUo qH$dm ‘D$ H$aUo `m à{H«$ òbm nmUr Am{U dm ỳ§Zm {PanÊ`m`mo½`
~Z{dÊ`mMr à{H«$`m ...........åhUyZ AmoiIbr OmVo.
1) ~rOà{H«$`m 2) {~`mUo ’o$a~Xb 3) {~`mUo ì`dhm ©̀Vm 4) ñH$m[a{’$Ho$eZ

4) The process of breaking, scratching, mechanically altering or softening the seed coats to make

them permeable to water and gases is known as ..............

1) seed treatment 2) seed alteration 3) seed viability 4) scarification

5) pñH$q’$J hm N>mQ>UrMm gdm©V hbH$m àH$ma ........ ¶m bmJdS>rMm Amho
1) Mhm 2) H$m°’$s 3) dobMr 4) Xmb{MZr

5) Skiffing is the lightest form of prunning in ..........

1) Tea 2) Coffee 3) Cardamom 4) Cinnamon

6) AmYw{ZH$ Vm§Xyi {JaÊ`m§Ûmao Ho$bo OmUmao à‘wI Am°naoeÝg AmhoV
A) ñdÀN>Vm ~) ŵg ŵerV H$) doJio H$aUo S>) YwUo
n¶m©¶r CÎmao …
1) A Am{U ~ ’$º$ 2) A, H$ Am{U S> 3) A, ~ Am{U S> 4) A, ~ Am{U H$

6) The major operations performed by modern rice mills are

a) Cleaning b) Husking c) Separation d) Washing

Answer options :

1) a and b only 2) a, b, c and d 3) a, b and d 4) a, b and c
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CÎmao - (21)  H¥$frg§b¾ joÌ   -  H¥$frà{H«$¶m, newnmbZ d Xw½Yì`dgm`, Hw$ w̧$Q>nmbZ,
‘Ëñ¶ì¶dgm¶

4) H¥$frà{H«$¶m

1) newnmbZ d Xw½Yì`dgm`
1-1 2-3 3-3 4-1 5-4 6-2 7-1 8-1 9-1 10-2
11-4 12-4 13-4 14-3

2) Hw$ w̧$Q>nmbZ
1-4 2-2 3-4 4-3

3) ‘Ëñ¶ì¶dgm¶
1-4 2-4

4) H¥$frà{H«$¶m
1-2 2-1 3-4 4-4 5-1 6-4


